Case 24-50233-BLS Doc 98 Filed 02/06/25 Page 1 of 3 Docket #0098 Date Filed: 2/6/2025

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

Chapter 11

EPIC! CREATIONS, INC., et al., 1

Case No. 24-11161 (BLS)

Debtors.

(Jointly Administered)

Claudia Z. Springer, Chapter 11 Trustee,

Adv. Pro. No. 24-50233 (BLS)

Plaintiff,

(Jointly Administered)

VS.

Re: Adv. D.I. 18, 39 & 94

Google, LLC, Voizzit Technology Private Ltd., Voizzit Information Technology LLC, Vinay Ravindra, Rajendran Vellapalath,

Defendants.

CERTIFICATION OF COUNSEL REGARDING ORDER GRANTING CHAPTER 11 TRUSTEE'S EMERGENCY MOTION TO HOLD THE VOIZZIT DEFENDANTS IN CONTEMPT OF COURT FOR THEIR FAILURE TO COMPLY WITH THE COURT'S NOVEMBER 19 ORDER

The undersigned counsel to Claudia Z. Springer, not individually but as the Chapter 11 Trustee (the "<u>Trustee</u>") of Epic! Creations, Inc., Neuron Fuel, Inc., and Tangible Play, Inc. (the "<u>Debtors</u>" and, each, a "<u>Debtor</u>") and Plaintiff in the above-captioned adversary proceeding, hereby certifies the following:

1. On November 26, 2024, the Plaintiff filed the Chapter 11 Trustee's Emergency Motion to Hold the Voizzit Defendants in Contempt of Court for their Failure to Comply with the

The Debtors in these chapter 11 cases, along with the last four digits of each Debtor's federal tax identification number, are: Epic! Creations, Inc. (9113); Neuron Fuel, Inc. (8758); and Tangible Play, Inc. (9331).



Court's November 19 Order (the "Emergency Motion"). See Adv. Pro. D.I. 18.

- 2. On December 4, 2024, the Court entered the *Order to Show Cause* (the "Order"), ordering the Voizzit to appear on January 13, 2025. *See* Adv. Pro. D.I. 39.
- 3. On January 8, 2025, the Plaintiff filed a Notice of Rescheduled Hearing, rescheduling the hearing to January 22, 2025 (the "Show Cause Hearing"). See Adv. Pro. D.I. 46.
- 4. On January 22, 2025, the Court held the Show Cause Hearing and continued the same for one week.
- 5. On January 23, 2025, the Court entered the *Scheduling Order for Order to Show Cause* ("Scheduling Order"). *See* Adv. Pro. D.I. 61. The Scheduling Order further rescheduled the Show Cause Hearing to January 29, 2025 (the "Rescheduled Show Cause Hearing").
- 6. On January 29, 2025, the Court held the Rescheduled Show Cause Hearing whereby it granted the Emergency Motion effective 3:18 p.m. (ET) and stated on the record that it would award monetary sanctions in the form of attorneys fees against the Voizzit Defendants.
- 7. Accordingly, on January 30, 2025, the Court entered the *Order Granting Chapter*11 Trustee's Emergency Motion to Hold the Voizzit Defendants in Contempt of Court for their
 Failure to Comply with the Court's November 19 Order (the "Contempt Order").
- 8. Pursuant to the Contempt Order, the Trustee was directed to "submit a bill of costs setting forth her fees and expenses incurred in connection with prosecuting the Emergency Motion." *See* Adv. Pro. D.I. 94. In accordance with same, a summary of the costs and expenses incurred by the Trustee is attached hereto as **Exhibit A**.

2

² Capitalized terms not otherwise defined herein shall have the same meaning ascribed to them in the Contempt Motion.

WHERFORE, the Trustee respectfully requests that the Court enter a judgment in the form of **Exhibit B** hereto directing Voizzit Defendants to make payment to the Trustee in the amount of \$571,762.05 in compliance with the Court's order.

Dated: February 6, 2025 Wilmington, Delaware

PASHMAN STEIN WALDER HAYDEN, P.C.

/s/ Alexis R. Gambale

Henry J. Jaffe (No. 2987) Joseph C. Barsalona II (No. 6102) Alexis R. Gambale (No. 7150) 824 N. Market Street, Suite 800

Wilmington, DE 19801 Telephone: (302) 592-6496

Email: hjaffe@pashmanstein.com jbarsalona@pashmanstein.com agambale@pashmanstein.com

-and-

JENNER & BLOCK LLP

Catherine Steege (admitted *pro hac vice*)
Melissa Root (admitted *pro hac vice*)
William A. Williams (admitted *pro hac vice*)
353 N. Clark Street
Chicago, Illinois 60654
Telephone: (312) 923-2952
Email: csteege@jenner.com

mroot@jenner.com wwilliams@jenner.com

Co-Counsel to the Trustee

Exhibit A

Summary of Fees and Expenses

Name of Company	<u>Fees</u>	Expenses	<u>Total</u>	
Novo Advisors LLP	\$32,632.50	\$3,987.95	\$36,620.45	
Jenner & Block LLP	\$342,093.50	\$3,572.87	\$345,666.37	
Pashman Stein Walder Hayden, P.C.	\$107,781.50	\$5,048.33	\$112,829.83	
Law Offices of Panag & Babu	\$72,275.00	\$4,370.40	\$76,645.40	
TOTAL	\$554,782.50	\$16,979.55	<u>\$571,762.05</u>	

Novo Advisors Fees and Expenses

Epic! Creations, Inc., et al.Fee Application Detail - Novo Advisors 11/18/2024 - 1/29/2025

11/20/2024 J. Grall

Case 24-11161 (BLS)
Jointly Administered

1 Correspondence regarding various operational and

case matters, including Cloudflare and Google

matters [Case Administration]

Date	Name	Hours	Bill Rate	A	mount	Task Description
11/18/2024	J. Grall	0.3	\$ 750.00	\$	225.00	15 Call with J. Vandermark (White and Williams), H. Sorvino (White and Williams), M. Root (Jenner), Trustee to discuss Google matter [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.8	\$ 750.00	\$	600.00	15 Weekly status call with Trustee and Jenner, Pashman Novo teams to discuss weekly filing deadlines, sanctions hearing, and Google matter [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.4	\$ 750.00	\$	300.00	2 Call with Epic employee regarding Google and Tangible Play outage [Business Operations]
11/18/2024	J. Grall	0.3	\$ 750.00	\$	225.00	15 Call with J. Vandermark (White and Williams), M. Root (Jenner), and Trustee regarding Google matter and complaint [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.3	\$ 750.00	\$	225.00	15 Call with Trustee to recap Google matter and discuss issues [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.5	\$ 750.00	\$	375.00	15 Call with Trustee, M. Root (Jenner), and C. Steege (Jenner) to discuss Google Complaint and TRO [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.6	\$ 750.00	\$	450.00	7 Review of Google complaint and provided commentary [Support for Orders and Filings]
11/18/2024	J. Grall	0.1	\$ 750.00	\$	75.00	15 Call with C. Steege (Jenner) regarding declaration of Google matter [Meetings of and Communications with Case Professionals]
11/18/2024	J. Grall	0.5	\$ 750.00	\$	375.00	7 Review of updated Google complaint and TRO [Support for Orders and Filings]
11/19/2024	J. Grall	0.5	\$ 750.00	\$	375.00	7 Read of Google TRO and correspondence from Google's counsel regarding the same [Support for Orders and Filings]
11/19/2024	J. Grall	0.6	\$ 750.00	\$	450.00	17 Attended hearing on emergency order regarding Google and Voizzit [Trial and Hearing Attendance]
11/19/2024	J. Grall	0.4	\$ 750.00	\$	300.00	15 Call with Trustee, Jenner Team, and Pashman team t discuss Google orders [Meetings of and Communications with Case Professionals]
11/19/2024	J. Grall	1.2	\$ 750.00	\$	900.00	7 Review of revisions and correspondence regarding Google TRO [Support for Orders and Filings]
11/19/2024	J. Grall	0.6	\$ 750.00	\$	450.00	15 Call with Trustee regarding Heiler declaration, Goog matter, and various case matters [Meetings of and Communications with Case Professionals]
11/19/2024	J. Grall	0.8	\$ 750.00	\$	600.00	2 Call with Premier Cloud and Trustee regarding Google security assessment [Business Operations]
11/20/2024	J. Grall	0.7	\$ 750.00	\$	525.00	15 Call with Trustee, Jenner, Pashman, and Novo teams to discuss Google order and hearing [Meetings of an Communications with Case Professionals]

1.5 \$ 750.00 \$

1,125.00

Epic! Creations, Inc., et al. Fee Application Detail - Novo Advisors

11/18/2024 - 1/29/2025

Case 24-11161 (BLS)
Jointly Administered

Date	Name	Hours	Bill Rate	Am	ount	Task Description
11/20/2024	J. Grall	1.0	\$ 750.00	\$	750.00	2 Call with Premier Cloud regarding Google Cloud account and email correspondence regarding the same [Business Operations]
11/20/2024	J. Grall	0.5	\$ 750.00	\$	375.00	15 Call with W. Williams (Jenner) regarding Google Cloud and declaration [Meetings of and Communications with Case Professionals]
11/22/2024	J. Grall	2.5	\$ 750.00	\$ 1	1,875.00	2 Established access and review of Tangible Play Google account [Business Operations]
11/26/2024	J. Grall	0.5	\$ 750.00	\$	375.00	2 Call with Epic Employee regarding Google Cloud [Business Operations]
11/26/2024	J. Grall	1.0	\$ 750.00	\$	750.00	2 Call with Epic employee regarding Google Cloud project [Business Operations]
12/02/2024	S. Gupta	1.0	\$ 975.00	\$	975.00	15 Attend weekly update call with J. Barsalona (PS), Trustee, J. Grall (Novo), W. Rittsteuer (Novo), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and various challenges related to Voizzit entities in preparation for tomorrow's hearing. [Meetings of and Communications with Case Professionals]
12/09/2024	S. Gupta	1.0	\$ 975.00	\$	975.00	15 Attend weekly update call with J. Barsalona (PS), Trustee, J. Grall (Novo), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Voizzit entities to Apple. [Meetings of and Communications with Case Professionals]
12/10/2024	J. Grall	1.6	\$ 750.00	\$ 1	,200.00	2 Call with Epic employee regarding Google accounts and invoicing [Business Operations]
12/11/2024	S. Gupta	0.4	\$ 975.00	\$	390.00	17 Attend emergency hearing for TRO request based on local filing by Voizzit in India. [Trial and Hearing Attendance]
12/16/2024	S. Gupta	0.5	\$ 975.00	\$	487.50	15 Attend weekly update call with J. Barsalona (PS), Trustee, J. Grall (Novo), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Voizzit entities to Apple. [Meetings of and Communications with Case Professionals]
12/17/2024	S. Gupta	0.5	\$ 975.00	\$	487.50	1 Review correspondence related to summons served to Apple by Voizzit in India courts. [Case Administration]
12/18/2024	S. Gupta	1.0	\$ 975.00	\$	975.00	1 Review order related to Voizzit preliminary injunction and related correspondence. [Case Administration]
12/23/2024	S. Gupta	0.4	\$ 975.00	\$	390.00	15 Attend weekly update call with J. Barsalona (PS), Trustee, J. Grall (Novo), W. Rittsteuer (Novo), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Voizzit entities to Apple. [Meetings of and Communications with Case Professionals]
12/23/2024	S. Gupta	1.0	\$ 975.00	\$	975.00	1 Review memo from S. Sarangi (P&B) to address Voizzit India lawsuit. [Case Administration]

Epic! Creations, Inc., et al.Fee Application Detail - Novo Advisors 11/18/2024 - 1/29/2025

Case 24-11161 (BLS)
Jointly Administered

Date	Name	Hours	Bill Rate	Amount	Task Description
12/24/2024	S. Gupta	0.3	\$ 975.00	\$ 292.50	1 Coordinate call for Voizzit litigation strategy with lender counsel. [Case Administration]
12/30/2024	S. Gupta	0.5	\$ 975.00	\$ 487.50	15 Attend weekly update call with J. Barsalona (PS), Trustee, J. Grall (Novo), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Voizzit entities to Apple. [Meetings of and Communications with Case Professionals]
01/06/2025	S. Gupta	0.6	\$ 975.00	\$ 585.00	15 Attend weekly update call with J.Barsalona (PS), C. Springer (NA), J. Grall (NA), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Vozzit entities to Apple.
01/13/2025	S. Gupta	0.6	\$ 975.00	\$ 585.00	15 Attend weekly update call with J.Barsalona (PS), C. Springer (NA), J. Grall (NA), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Vozzit entities to Apple.
01/21/2025	S. Gupta	0.5	\$ 975.00	\$ 487.50	15 Attend weekly update call with J.Barsalona (PS), C. Springer (NA), J. Grall (NA), M. Root (JB), H. Jaffe (PS), D. Sklar (PS), C. Steege (JB), B. Williams (JB) to discuss open case issues and complaint filed in India by Vozzit entities to Apple.
01/21/2025	S. Gupta	0.4	\$ 975.00	\$ 390.00	1 Review correspondence realted to tomorrow's hearing, including replacement counsel for Vozzitt.
01/21/2025	S. Gupta	0.9	\$ 975.00	\$ 877.50	1 Review of materials for hearing presented by M. Scorese (Chugh) on behalf of Vozzitt entities in advance of tomorrow's hearing.
1/28/2025	J. Grall	2.0	\$ 750.00	\$ 1,500.00	18 Travel to Wilmington, DE for sanctions hearing [Non-Working Travel Time]
1/28/2025	J. Grall	1.2	\$ 750.00	\$ 900.00	15 Meeting with C. Steege (Jenner), M. Root (Jenner), and S. Gupta (Novo) in preparation for hearing. [Meetings of and Communications with Case Professionals]
01/29/2025	S. Gupta	2.6	\$ 975.00	\$ 2,535.00	1 Prepare for today's court hearing regarding sanctions for violation of TRO by Vozzitt defendants.
01/29/2025	S. Gupta	2.5	\$ 975.00	\$ 2,437.50	17 Attended hearing on sanctions for contempt [Trial and Hearing Attendance]
1/29/2025	J. Grall	1.5	\$ 750.00	\$ 1,125.00	15 Review of Declarations and preparation in advance of hearing [Case Administration]
1/29/2025	J. Grall	2.5	\$ 750.00	\$ 1,875.00	17 Attended hearing on sanctions for contempt [Trial and Hearing Attendance]
Total		39.1		\$ 32,632.50	

Epic! Creations, Inc., et al. Expense Detail - Novo Advisors Case 24-11161 (BLS)
Jointly Administered

Date	Name	Category	Amount	Description
1/28/2025	J. Grall	Airfare	\$ 1,246.96	Round trip airfare from ORD to PHL
1/28/2025	J. Grall	Auto	\$ 91.19	Rideshare from PHL to Wilmington
1/28/2025	S. Gupta	Airfare	\$ 1,532.97	Round trip airfare from ORD to PHL
1/29/2025	J. Grall	Lodging	\$ 356.40	One night stay at Hotel DuPoint
1/29/2025	J. Grall	Auto	\$ 56.39	Rideshare from Wilmington to PHL
1/29/2025	J. Grall	Meals	\$ 12.37	Lunch for self at PHL
1/29/2025	J. Grall	Auto	\$ 96.00	Overnight parking at ORD
1/29/2025	S. Gupta	Lodging	\$ 545.90	One night stay at Hotel DuPoint
1/29/2025	S. Gupta	Auto	\$ 49.77	Taxi from ORD to home
Total			\$ 3,987.95	

Jenner & Block Fees and Expenses

JENNER & BLOCK'S FEES

11/22/24	MMR	.80	Worked on contempt motion (Google).	1,236.00
11/24/24	MMR	.50	Work on contempt papers (Google).	772.50
11/25/24	CS	1.00	Revised Google contempt motion.	2,305.00
11/25/24	MMR	2.10	Draft and circulate contempt papers (1.5); confer with C. Steege re same (.2); work on orders (.4).	3,244.50
11/25/24	MMR	.80	Follow up work on contempt motions (Google).	1,236.00
11/26/24	CS	2.30	Revised Google TRO contempt motion (2.0) and order (.3).	5,301.50
11/26/24	MMR	1.10	Revise contempt motions, orders, J. Grall declaration (Google).	1,699.50
11/26/24	MMR	2.30	Multiple conferences with C. Steege re contempt motions and revisions to same (Google).	3,553.50
12/09/24	CS	.80	Telephone conference with Pashman team re Voizzit stay violation related to filing of Indian complaint.	1,844.00
12/09/24	CS	.40	Reviewed Indian complaint.	922.00
12/09/24	CS	.40	Emails to team and Indian counsel re Indian Voizzit complaint.	922.00
12/09/24	CS	.40	Telephone conference with team re organization of latest TRO.	922.00
12/09/24	CS	.70	Edited TRO moving papers related to filing of Indian complaint.	1,613.50
12/09/24	MMR	.70	Meeting with Delaware counsel re case strategy and Voizzit issue related to filing of Indian complaint.	1,081.50
12/09/24	MMR	3.00	Work on new complaint, TRO, motion, memo related to filing of Indian complaint (2.3); multiple conferences with team re filing of Indian complaint (.7).	4,635.00
12/09/24	MMR	1.10	Review of papers received from Apple re India complaint and diligence on filing (.9); email to India counsel with proposed complaint/TRO (.2).	1,699.50
12/09/24	WAW	4.60	Prepared TRO motion related to filing of Indian complaint and supporting brief and declaration re India lawsuit.	6,302.00
12/09/24	WAW	1.30	Researched additional case law for inclusion in TRO brief related to filing of Indian complaint.	1,781.00
12/09/24	WAW	.50	Reviewed and revised draft complaint re India lawsuit.	685.00

12/09/24	WAW	.70	Multiple email correspondence with Jenner team re complaint and TRO materials re India lawsuit.	959.00
12/09/24	BSB	1.60	Researched caselaw re enjoining parallel foreign litigation.	1,536.00
12/10/24	CS	2.50	Reviewed and revised latest TRO and complaint regarding India complaint filing.	5,762.50
12/10/24	CS	2.00	Prepared argument for India hearing.	4,610.00
12/10/24	MMR	2.10	Finalize new adversary complaint, memo, motion, and TRO related to filing of Indian complaint for filing.	3,244.50
12/10/24	MMR	.20	Edits to outline for 12/11 hearing related to filing of Indian complaint and stay violation re same.	309.00
12/10/24	WAW	2.10	Reviewed and finalized draft complaint and TRO materials related to filing of Indian complaint.	2,877.00
12/10/24	WAW	.60	Multiple email correspondence with Jenner, Pashman, and Novo teams re complaint and TRO materials related to filing of Indian complaint.	822.00
12/11/24	CS	.50	Prepared for stay hearing re filing of India complaint.	1,152.50
12/11/24	CS	.40	Attended hearing re stay violation re India complaint.	922.00
12/11/24	CS	.20	Revised TRO related to filing of Indian complaint to conform with Court's comments.	461.00
12/11/24	MMR	.50	Participate in TRO hearing related to filing of Indian complaint.	772.50
1/06/25	CS	3.00	Prepared for contempt hearing.	7,035.00
1/07/25	CS	4.00	Prepared C. Springer declaration for contempt hearing.	9,380.00
1/07/25	CS	.50	Met with K&E team re 1/13/25 hearing preparation.	1,172.50
1/07/25	MMR	1.60	Prepare for contempt hearing, multiple conferences with C. Steege re same.	2,520.00
1/07/25	MMR	.50	Meeting with K&E re prep for contempt hearing.	787.50
1/07/25	MMR	.80	Review and comment on Springer declaration and identify exhibits.	1,260.00
1/08/25	CS	1.00	Revised Springer declaration for contempt hearing.	2,345.00

1/08/25	MMR	1.30	Prep for contempt hearing, including review of transcript from Byju case (1.0); confer with C. Steege re same (.3).	2,047.50
1/10/25	CS	.60	Reviewed materials from Ravi Shanker re contempt preparation.	1,407.00
1/16/25	CS	2.00	Prepared for 1/22/25 contempt hearing.	4,690.00
1/16/25	MMR	1.10	Work on Springer declaration (.6); confer with C. Steege re same (.2); review of detail from J. Grall in connection with same (.3).	1,732.50
1/16/25	WAW	.40	Prepared exhibits to declaration in support of Google TRO contempt motion.	560.00
1/17/25	CS	.20	Finalized C. Springer filing re Google contempt motion.	469.00
1/17/25	MMR	1.30	Work on preparation for Voizzit order to show cause hearing (.8); call with team to discuss same and status report (.5).	2,047.50
1/20/25	cs	.50	Telephone conference with team re request from Voizzit re continuance.	1,172.50
1/20/25	CS	.50	Emails with Voizzit's counsel re hearing.	1,172.50
1/20/25	MMR	.40	Review of email from Voizzit counsel and calls with Trustee team (.2) and C. Steege re same (.2).	630.00
1/21/25	CS	4.00	Reviewed Voizzit continuance motion and prepared response.	9,380.00
1/21/25	CS	4.00	Prepared closing argument for contempt hearing.	9,380.00
1/21/25	CS	.60	Telephone conference with K&E re continuance and status.	1,407.00
1/21/25	CS	.40	Telephone conference with Voizzit counsel re continuance.	938.00

1/21/25	CS	.20	Reviewed and edited status report.	469.00
1/21/25	MMR	1.50	Work on revising status report in connection with Order to Show Cause hearing (1.2); incorporate comments to same (.3).	2,362.50
1/21/25	MMR	.40	Call with K&E and C. Steege regarding 1/22 hearing.	630.00
1/21/25	MMR	1.80	Review of motion for adjournment, documents, declaration filed by Voizzit entities (1.0); call with C. Steege and W. Williams re same (.3); work on timeline (.5).	2,835.00
1/21/25	MMR	1.50	Prepare for Show Cause hearing, including review of prior transcripts, argument outline.	2,362.50
1/21/25	MMR	.60	Phone conference with Pashman team (2) re hearing preparation and response to Voizzit.	945.00
1/21/25	WAW	3.20	Prepared timeline summary of Voizzit-related filings and service for use at January 22 hearing.	4,480.00
1/21/25	WAW	.40	Reviewed Voizzit's motion to adjourn January 22 hearing.	560.00
1/22/25	CS	3.00	Prepared for contempt hearing.	7,035.00
1/22/25	CS	1.00	Attended contempt hearing.	2,345.00
1/22/25	CS	1.00	Revised discovery for 1/29/25 hearing.	2,345.00
1/22/25	MMR	1.00	Prepare for hearing on rule to show cause.	1,575.00
1/22/25	MMR	.30	Hearing follow up meeting with Trustee team to discuss preparations for 1/29 hearing.	472.50
1/22/25	MMR	.50	Meeting with Lenders' counsel to discuss preparation for 1/29 hearing.	787.50

1/22/25	MMR	1.90	Work on discovery, review of record and transcripts in connection with prep for 1/29 hearing (1.5); multiple calls with C. Steege re same (.4).	2,992.50
1/22/25	WAW	.80	Attended show cause hearing on Google TRO contempt motion.	1,120.00
1/22/25	WAW	.80	Prepared written discovery to Voizzit Defendants on contempt-related issues.	1,120.00
1/22/25	WAW	.50	Conference call with Trustees' professionals re Voizzit discovery and related next steps.	700.00
1/22/25	WAW	.60	Reviewed Voizzit Defendants' declaration and exhibits in support of adjournment motion.	840.00
1/23/25	CS	1.30	Prepared outline and research issues re reply brief for contempt hearing.	3,048.50
1/23/25	CS	.40	Revised witness and exhibit lists.	938.00
1/23/25	CS	2.00	Prepared and finalized discovery to Voizzit.	4,690.00
1/23/25	MMR	1.10	Work on anticipated reply brief for 1/29 hearing.	1,732.50
1/23/25	MMR	.60	Review of draft discovery to Voizzit defendants.	945.00
1/23/25	WAW	3.40	Drafted reply in support of Google TRO contempt motion.	4,760.00
1/23/25	WAW	2.80	Researched case law for inclusion in Google contempt reply and conferred with B. Bornhoft re same.	3,920.00
1/23/25	WAW	.20	Reviewed draft declaration in support of Google contempt reply.	280.00
1/23/25	BSB	.60	Researched notice of court order via counsel for civil contempt.	645.00
1/23/25	BSB	.70	Researched notice of court order via actual knowledge for civil contempt.	752.50

1/23/25	BSB	1.20	Researched violations of the automatic stay.	1,290.00
1/23/25	BSB	.30	Researched good faith defense for civil contempt.	322.50
1/23/25	BSB	1.00	Researched whether a foreign law affidavit declarant must testify.	1,075.00
1/23/25	BSB	1.20	Researched confinement as civil sanction.	1,290.00
1/23/25	BSB	.80	Researched per diem fees as civil sanctions.	860.00
1/23/25	BSB	.40	Researched due process requirements for temporary restraining orders.	430.00
1/24/25	CS	.20	Email with Vellapalath's counsel re meeting to discuss hearing issues and discovery.	469.00
1/24/25	CS	.20	Telephone conference with C. Springer re hearing.	469.00
1/24/25	CS	.40	Prepared C. Springer Amended Declaration.	938.00
1/24/25	CS	.40	Telephone conference with team re witnesses.	938.00
1/24/25	CS	.20	Reviewed Glass's intervention motion.	469.00
1/24/25	CS	.30	Revised exhibit list.	703.50
1/24/25	CS	.50	Telephone conference with M. Scorese re discovery.	1,172.50
1/24/25	MMR	2.60	Preparation for evidentiary record for rule to show cause hearing (2.1); phone call with Novo and Trustee team re same (.5).	4,095.00
1/24/25	MMR	1.20	Prepare for call with new Voizzit counsel (.3); participate in call (.5); confer with C. Steege after call re next steps (.4).	1,890.00
1/24/25	WAW	6.40	Continue drafting contempt reply and researching related case law.	8,960.00

1/24/25	BSB	1.20	Researched due process requirements for temporary restraining orders.	1,290.00
1/24/25	BSB	1.00	Researched time zone effect on due process, complying with court order, and notice.	1,075.00
1/24/25	BSB	1.40	Researched ability to make a collateral attack on a court order during civil contempt hearing.	1,505.00
1/24/25	BSB	.70	Researched impossibility defense for civil sanctions.	752.50
1/25/25	CS	.20	Emails re discovery and deposition of Vellapalath with M. Scorese.	469.00
1/25/25	MMR	1.80	Review and comment on reply brief (1.3); work on discovery (.5).	2,835.00
1/25/25	WAW	3.10	Continued drafting contempt reply.	4,340.00
1/26/25	CS	8.50	Edited reply brief and drafted additional sections of brief.	19,932.50
1/26/25	MMR	3.80	Revise reply brief (3.2); call with C. Steege re same (.6).	5,985.00
1/26/25	WAW	1.10	Researched additional case law for inclusion in contempt reply.	1,540.00
1/26/25	BSB	.70	Researched imputation of knowledge from an agent to a principal under Delaware law.	752.50
1/26/25	BSB	.30	Researched confinement as a civil sanction.	322.50
1/26/25	BSB	.40	Researched fines and attorneys' fees and costs as civil sanctions.	430.00
1/27/25	MMR	.90	Revise evidentiary declarations for Mr. Root.	1,417.50
1/27/25	BSB	.30	Researched confinement as a civil sanction.	322.50

1/27/25	BSB	.50	Researched fines and attorneys' fees and costs as civil sanctions.	537.50
1/27/25	BSB	.80	Researched waiver of foreign law arguments.	860.00
1/27/25	BSB	2.30	Researched imputation of knowledge from counsel to client.	2,472.50
1/27/25	BSB	1.20	Researched impossibility defense for civil contempt.	1,290.00
1/28/25	CS	3.00	Revised and finalized the Reply Brief.	7,035.00
1/28/25	CS	.50	Telephone conference with K&E re hearing logistics.	1,172.50
1/28/25	CS	.30	Prepared opening statement.	703.50
1/28/25	CS	.20	Prepared closing statement.	469.00
1/28/25	CS	.20	Reviewed intervention reply.	469.00
1/28/25	MMR	3.50	Continue work to finalize reply brief.	5,512.50
1/28/25	MMR	3.40	Work on direct outlines for January 29 hearing.	5,355.00
1/28/25	MMR	.50	Review of Voizzit exhibits and work on evidentiary issues.	787.50
1/28/25	MMR	.40	Review of GLAS filing on intervention.	630.00
1/28/25	MMR	1.00	Read transcripts, Trustee's exhibits to prepare for hearing.	1,575.00
1/28/25	MMR	.30	Review of letter received from lenders' counsel and PowerPoint prepared by lenders' counsel	472.50
1/28/25	WAW	3.20	Prepared direct examination outlines for contempt hearing for J. Grall	4,480.00
1/28/25	WAW	.20	Reviewed GLAS letter to Voizzit's counsel re forged document.	280.00

1/28/25	WAW	1.60	Researched additional case law for inclusion in contempt reply.	2,240.00
1/28/25	WAW	2.60	Reviewed, revised, and finalized contempt reply.	3,640.00
1/28/25	WAW	.70	Multiple email correspondence with Jenner team re contempt reply.	980.00
1/28/25	BSB	2.60	Revised and edited reply brief.	2,795.00
1/28/25	BSB	.70	Revised and edited Exhibit B TRO violation chart.	752.50
1/28/25	CS	1.50	Traveled to Delaware. (billed at 50%)	3,517.50
1/28/25	MMR	1.50	Non-productive travel time. (billed at 50%)	2,362.50
1/29/25	CS	1.70	Prepared argument re Requests for Admissoin and failure to respond.	3,986.50
1/29/25	CS	3.00	Prepared closing argument.	7,035.00
1/29/25	CS	.90	Met with client re testimony and hearing preparation.	2,110.50
1/29/25	CS	2.50	Attended hearing.	5,862.50
1/29/25	CS	.40	Participated in meet and confer with Voizzit counsel.	938.00
1/29/25	MMR	.40	Participated in meet and confer with Voizzit counsel.	630.00
1/29/25	MMR	4.50	Prepare for 1/29 hearing, including meeting with witnesses and working on argument.	7,087.50
1/29/25	MMR	2.80	Participate in hearing on contempt (2.5); work on form of order (.3).	4,410.00
1/29/25	WAW	.50	Researched case law relating to Voizzit's motion for protective order and general objections as a defense to responding to requests for admission.	700.00

1/29/25	CS	1.30	Traveled to Chicago. (billed at 50%)	3,048.50
1/29/25	MMR	2.00	Return travel from DE. (billed at 50%)	3,150.00
		196.40	PROFESSIONAL SERVICES	342,093.50

SUMMARY OF LITIGATION TO SECURE ASSETS

NAME		HOURS	RATE	TOTAL
CATHERINE L. STEEGE		56.60	2,345.00	132,727.00
CATHERINE L. STEEGE		11.60	2,305.00	26,738.00
MELISSA M. ROOT		48.80	1,575.00	76,860.00
MELISSA M. ROOT		15.20	1,545.00	23,484.00
WILLIAM A. WILLIAMS		32.50	1,400.00	45,500.00
WILLIAM A. WILLIAMS		9.80	1,370.00	13,426.00
BRIAN S. BORNHOFT		20.30	1,075.00	21,822.50
BRIAN S. BORNHOFT		1.60	960.00	1,536.00
	TOTAL	196.40		\$ 342,093.50

EXPENSES

1/28/25	Travel, CATHERINE STEEGE, Airfare		1,093.97
1/28/25	Travel, MELISSA ROOT, Airfare		1,093.97
1/28/25	Travel, MELISSA ROOT, Uber		102.57
1/29/25	Travel, CATHERINE STEEGE, Hotel		548.90
1/29/25	Travel, MELISSA ROOT, Hotel		548.90
1/29/25	Travel, CATHERINE STEEGE, Cab		58.50
1/29/25	Travel, MELISSA ROOT, Uber		126.06
		TOTAL DISBURSEMENTS	\$3,572,87

Pashman Stein Walder Hayden P.C. Fees and Expenses

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
12/04/2024	AGambal	B140	Prepared (for upload) order to show cause for TRO violations.	0.20	\$ 450.00	\$ 90.00
12/04/2024	AGambal	B140	Emails with Jenner team re order to show cause for TRO violations.	0.20	\$ 450.00	\$ 90.00
12/04/2024	AGambal	B140	Emails with court re order to show cause for TRO violations.	0.30	\$ 450.00	\$ 135.00
12/04/2024	JBarsal	B140	Revise certificate of counsel regarding advisors fees for Voizzit violations	0.20	\$ 630.00	\$ 126.00
12/04/2024	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of order to show cause	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with L. Salcedo re: certification of costs	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with C. Steege, M. Root and L. Salcedo re: Pashman damages calculation	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Comment to damages calculation exhibit	0.30	\$ 630.00	\$ 189.00
12/04/2024	KBeilin	B140	Conf. w. L. Salcedo RE: Certificate of costs	0.20	\$ 420.00	\$ 84.00
12/04/2024	JBarsal	B140	Correspondence with L. Salcedo and C. Steege re: CoC for damages calculation	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with N. Washington and A. Gambale re: entry of order to show cause	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with C. Steege and A. Gambale re: rule to show cause	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with C. Steege and A. Gambale re: TRO	0.10	\$ 630.00	\$ 63.00
12/04/2024	JBarsal	B140	Correspondence with L. Salcedo, K. Beilin, A. Gambale, Z. West and R. Noga re: Pashman	0.20	\$ 630.00	\$ 126.00
12/04/2024	DSklar	B140	damages calculation Review of transcript from 12/3 hearing	0.70	\$ 495.00	\$ 346.50
12/04/2024	JBarsal	B140	Correspondence with K. Beilin and S. Sarangi re: Voizzit issues	0.10	\$ 630.00	\$ 63.00
12/05/2024	JBarsal	B140	Correspondence with M. Root, S. Kimmer and D. Saffell re: lender damages calculation	0.10	\$ 630.00	\$ 63.00
12/05/2024	AGambal	B140	Emails with J. Barsalona re revised COC for sanction order fees.	0.20	\$ 450.00	\$ 90.00
12/05/2024	AGambal	B140	Reviewed and revised COC for sanction order fees.	0.20	\$ 450.00	\$ 90.00
12/05/2024	AGambal	B140	Emails with M. Root re fees re sanction order.	0.10	\$ 450.00	\$ 45.00
12/05/2024	JBarsal	B140	Correspondence with A. Gambale re: comments to certificate of costs	0.10	\$ 630.00	\$ 63.00
12/05/2024	KBeilin	B140	Reviewed hearing transcript from 12/3 PI hearing	0.50	\$ 420.00	\$ 210.00
12/06/2024	AGambal	B140	Emails Jenner team, Kirkland team and Pashman team re certification of counsel of fees for	0.80	\$ 450.00	\$ 360.00
12/06/2024	LSalced	B140	sanctions award. Emails re COC for sanctions	0.50	\$ 400.00	\$ 200.00
12/06/2024	JBarsal	B140	Correspondence with R. Shankar, D. Saffell, C. Steege and D. Sklar re: sealing of damages	0.40	\$ 630.00	\$ 252.00
12/06/2024	DSklar	B140	calculation Discussion with Pashman Team concerning motion to seal re sanctions	0.10	\$ 495.00	\$ 49.50
12/06/2024	JBarsal	B140	Correspondence with A. Gambale re: form of damages CoC	0.10	\$ 630.00	
12/06/2024	JBarsal	B140	Correspondence with C. Steege, C. Springer and M. Root re: damages CoC and accompanying	0.20	\$ 630.00	\$ 126.00
12/09/2024	LSalced	B140	exhibits Call with J. Barsalona re: new Voizzit complaint	0.30	\$ 400.00	\$ 120.00
			·			
12/09/2024	LSalced	B140	Calls (x3) with J. Barsalona re: damages calculation	0.30		
12/09/2024	HJaffe	B140	Review email from N. Washington re: scheduling of Indian Complaint TRO (.10)	0.10	\$ 925.00	\$ 92.50
12/09/2024	JBarsal	B140	Correspondence with S. Kimmer, A. Gambale and L. Salcedo re: lender fees sealing issues	0.40	\$ 630.00	\$ 252.00
12/09/2024	JBarsal	B140	Correspondence with A. Gorman and L. Salcedo re: issues regarding sealed documents on Epic claims website	0.20	\$ 630.00	\$ 126.00
12/09/2024	AGambal	B140	Drafted Notice of Withdrawal re COC for attorneys fees/sanctions.	0.10	\$ 450.00	
12/09/2024	AGambal	B140	Emails with Kirkland team re COC for attorneys fees/sanctions.	0.30	\$ 450.00	\$ 135.00
12/09/2024	LSalced	B140	Prepare for TRO filing	0.70	\$ 400.00	\$ 280.00
12/09/2024	JBarsal	B140	Review and comment to new Voizzit complaint (.5); Review and comment to TRO and brief (.3)	0.80	\$ 630.00	\$ 504.00
12/09/2024	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: final CoC for damages	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	Correspondence with A. Gambale, C. Steege, and L. Salcedo re: revised CoC for damages and sealing of same	0.20	\$ 630.00	\$ 126.00
12/09/2024	AGambal	B140	Emails with Jenner team re COC for attorneys fees/sanctions.	0.40	\$ 450.00	\$ 180.00
12/09/2024	AGambal	B140	Telephone calls (x2) with J. Barsalona re COC for attorneys fees/sanctions.	0.50	\$ 450.00	\$ 225.00
12/09/2024	AGambal	B140	Emails with (and telephone calls (x2)) L. Salcedo re COC for attorneys fees/sanctions.	0.70	\$ 450.00	\$ 315.00
12/09/2024	LSalced	B140	Prepare for and file COC re fees	2.10	\$ 400.00	\$ 840.00
12/09/2024	JBarsal	B140	Calls (x2) with A. Gambale re: damages CoC	0.50	\$ 630.00	\$ 315.00
12/09/2024	JBarsal	B140	Correspondence with M. Root, A. Gambale and L. Salcedo re: damages calculation submission to Court	0.10	\$ 630.00	\$ 63.00

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
12/09/2024	JBarsal	B140	Correspondence with D. Saffell, S. Kimmer and A. Gambale re: Lenders damages fees and expenses (.1); Review same (.2)	0.30	\$ 630.00	\$ 189.00
12/09/2024	JBarsal	B140	Calls (x3) with L. Salcedo re: damages calculation	0.30	\$ 630.00	\$ 189.00
12/09/2024	KBeilin	B140	Drafted motion to seal related to Certificate of Costs of Services.	0.90	\$ 420.00	\$ 378.00
12/09/2024	JBarsal	B140	Correspondence with A. Gambale re: new Voizzit complaint	0.10	\$ 630.00	\$ 63.00
12/09/2024	LSalced	B140	Prepare agenda for Dec 11 re emergency motion	0.30	\$ 400.00	\$ 120.00
12/09/2024	JBarsal	B140	Correspondence with C. Steege re: emergency hearing	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	Correspondence with K. Beilin re: motion to seal portions of damages calculations	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	Correspondence with W. Williams, C. Steege and A. Henchen re: service of notice to show	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	cause Call with L. Salcedo re: new Voizzit complaint	0.30	\$ 630.00	\$ 189.00
12/09/2024	JBarsal	B140	Correspondence with N. Washington re: new Voizzit stay violation and emergency hearing	0.20	\$ 630.00	\$ 126.00
12/09/2024	JBarsal	B140	Review and analyze Voizzit Technology Pvt. Ltd v. Think and Learn complaint (.2); Legal	1.60	\$ 630.00	\$ 1,008.00
			research regarding same (1.4)			
12/09/2024	JBarsal	B140	Correspondence with S. Sarangi and C. Steege re: Voizzit complaint against Trustee in India	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	Correspondence with D. Dandeneau and C. Steege re: India lawsuit by Voizzit	0.10	\$ 630.00	\$ 63.00
12/09/2024	JBarsal	B140	Correspondence with C. Steege and C. Springer re: new Voizzit stay violation	0.10	\$ 630.00	\$ 63.00
12/09/2024	KBeilin	B140	Reviewed India notice to show cause	0.30	\$ 420.00	\$ 126.00
12/10/2024	HJaffe	B140	Review reply to D. Sklar from C. Steege re: TRO papers (.10)	0.10	\$ 925.00	\$ 92.50
12/10/2024	HJaffe	B140	Review email from D. Sklar re: comments to TRO papers (.10)	0.10	\$ 925.00	\$ 92.50
12/10/2024	JBarsal	B140	Correspondence with J. Grall and C. Springer allegations in India complaint	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with A. Guerra re: certificate of service in adversary	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with S. Kimmer and C. Steege re: TRO hearing issues	0.10	\$ 630.00	\$ 63.00
12/10/2024	AGambal	B140	Assisted with filing the second Voizzit complaint and TRO.	0.40	\$ 450.00	\$ 180.00
12/10/2024	AGambal	B140	Emails with Jenner team re second Voizzit complaint and TRO and service of same.	0.50	\$ 450.00	\$ 225.00
12/10/2024	AGambal	B140	Emails with Pashman team re new Voizzit complaint and TRO.	0.50	\$ 450.00	\$ 225.00
12/10/2024	KBeilin	B140	Revised motion to permanently withdraw and file under seal (0.7); corr. w. A. Gambale	0.80	\$ 420.00	\$ 336.00
12/10/2024	JBarsal	B140	regarding same (0.1) Discussion with A. Gambale and L. Salcedo re: hearing preparations	0.30	\$ 630.00	\$ 189.00
12/10/2024	JBarsal	B140	Correspondence with N. Washington and L. Salcedo re: agenda	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with A. Guerra, A. Henchen, L. Salcedo, and W. Williams re: service of new	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Voizzit complaint and TRO Correspondence with S. Kimmer and C. Steege re: hearing strategy	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with D. Sklar, H. Jaffe and C. Steege re: comments to new Voizzit complaint	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	and accompanying documents Revise and finalize notice of hearing on TRO	0.10	\$ 630.00	
12/10/2024	JBarsal	B140	Call with L. Salcedo re: agenda for December 11 hearing	0.10	\$ 630.00	
12/10/2024	LSalced	B140	Prepare for and file complaint, TRO and related documents against Voizzit	2.70	\$ 400.00	
12/10/2024	JBarsal	B140	Revise and finalize complaint (.2), TRO (.1), Brief (.1) and Grall Declaration (.1)	0.50	\$ 630.00	
12/10/2024	JBarsal	B140	Correspondence with W. Williams and L. Salcedo re: finalization of new Voizzit complaint and motion	0.10	\$ 630.00	
12/10/2024	JBarsal	B140	Correspondence with L. Casey and A. Gambale re: unsealed fee exhibit	0.10	\$ 630.00	
12/10/2024	JBarsal	B140	Correspondence with N. Washington and A. Gambale re: transmission of unsealed damages calculation	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with A. Gambale re: transmission of unsealed documents	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with S. Sarangi and C. Steege re: Indian action diligence	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with R. Shankar re: investigation of India action by Voizzit	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with S. Kimmer re: lender comments to complaint and TRO	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Correspondence with J. Grall and C. Steege re: Grall declaration in support of TRO	0.10	\$ 630.00	\$ 63.00
12/10/2024	JBarsal	B140	Call with H. Jaffe re: new Voizzit adversary	0.50	\$ 630.00	\$ 315.00
12/10/2024	JBarsal	B140	Call with L. Salcedo re: new adversary proceeding against Voizzit	0.20	\$ 630.00	\$ 126.00
12/10/2024	KBeilin	B140	Drafted joint motion to permanently withdraw and file under seal.	1.90	\$ 420.00	\$ 798.00
12/10/2024	DSklar	B140	Review of proposed filings for TRO injunction (.5) and discuss with Jenner Team concerning	0.70	\$ 495.00	\$ 346.50
			same (.2)			

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
12/10/2024	AGambal	B140	Emails to court (.1) and UST (.1) re sealed documents for COC re attorneys fees.	0.20	\$ 450.00	\$ 90.00
12/11/2024	HJaffe	B140	Email to team re: comments to TRO proposed order (.10)	0.10	\$ 925.00	\$ 92.50
12/11/2024	HJaffe	B140	Review proposed Court order for Indian Litigation TRO (.20)	0.20	\$ 925.00	\$ 185.00
12/11/2024	HJaffe	B140	Participate in Court hearing re: Indian Complaint TRO	0.40	\$ 925.00	\$ 370.00
12/11/2024	HJaffe	B140	Email to J. Barsalona re: TRO Hearing (.10)	0.10	\$ 925.00	\$ 92.50
12/11/2024	HJaffe	B140	Email from J. Barsalona re: India TRO hearing (.10)	0.10	\$ 925.00	\$ 92.50
12/11/2024	HJaffe	B140	Prepare for upcoming TRO hearing re: Indian Complaint (.80)	0.80	\$ 925.00	\$ 740.00
12/11/2024	LSalced	B140	Prepare summons and ADR notice re Voizzit complaint	0.40	\$ 400.00	\$ 160.00
12/11/2024	JBarsal	B140	Correspondence with L. Salcedo and D. Sklar re: summons and notice of pretrial conference in	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	new Voizzit adversary Correspondence with D. Dandeneau and M. Root re: Voizzit complaint in India and resulting	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	TRO Correspondence with L. Dorsett and M. Root re: India lawsuit and Amazon India Pvt Ltd	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with J. Vandermark and M. Root re: India lawsuit by Voizzit	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140		0.10	\$ 630.00	\$ 126.00
			Correspondence with H. McCullough and M. Root re: Voizzit India action TRO			
12/11/2024	AGambal	B140	Emails with Jenner team re final version of TRO for Court submission.	0.30	\$ 450.00	\$ 135.00
12/11/2024	AGambal	B140	Emails with K. Beilin and Pashman team re motion to withdraw/seal the COC of attorneys fees.	0.40	\$ 450.00	\$ 180.00
12/11/2024	AGambal	B140	Reviewed and revised motion to withdraw/seal the COC of attorneys fees.	0.50	\$ 450.00	\$ 225.00
12/11/2024	AGambal	B140	Emails with Jenner team re TRO hearing logistics.	0.40	\$ 450.00	\$ 180.00
12/11/2024	AGambal	B140	Emails with Pashman team re TRO hearing logistics.	0.40	\$ 450.00	\$ 180.00
12/11/2024	JBarsal	B140	Correspondence with K. Beilin and C. Steege re: draft motion to seal	0.10	\$ 630.00	\$ 63.00
12/11/2024	KBeilin	B140	Revised motion to permanently remove and seal certification of damages (0.1); corr. w. M. Root, C. Steege, W. Williams regarding same (0.1); corr. w. J. Barsalona regarding same (0.1)	0.30	\$ 420.00	\$ 126.00
12/11/2024	JBarsal	B140	Correspondence with L. Salcedo re: TRO hearing transcript	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with A. Guerra, A. Henchen and L. Salcedo re: service of TRO	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with L. Salcedo re: entry of TRO	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Comment to motion to seal lenders fees	0.30	\$ 630.00	\$ 189.00
12/11/2024	JBarsal	B140	Correspondence with L. Salcedo re: hearing coordination with Byju's Alpha	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with C. Steege and A. Gambale re: service of TRO and certificate of service	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with C. Steege, H. Jaffe and A. Gambale re: revised TRO (.1); Review same	0.20	\$ 630.00	\$ 126.00
12/11/2024	JBarsal	B140	(.1) Correspondence with A. Gambale, L. Salcedo and H. Jaffe re: form of TRO order	0.20	\$ 630.00	\$ 126.00
12/11/2024	JBarsal	B140	Correspondence with M. Root re: hearing preparations	0.10	\$ 630.00	\$ 63.00
12/11/2024	JBarsal	B140	Correspondence with A. Gambale and H. Jaffe re: hearing preparations	0.20	\$ 630.00	\$ 126.00
12/11/2024	KBeilin	B140	Reviewed revised motion to permanently withdraw and seal certificate of damages	0.10	\$ 420.00	\$ 42.00
12/11/2024	LSalced	B140	Revised TRO and upload the same	0.60	\$ 400.00	\$ 240.00
12/12/2024	LSalced	B140	Prepare for and file redacted COC re damages cost	0.50	\$ 400.00	\$ 200.00
12/12/2024	LSalced	B140	Prepare for and file notice of removal	0.30	\$ 400.00	\$ 120.00
12/12/2024	AGambal	B140	Reviewed and approved motion to seal/motion withdraw COC (and public version of the	0.30	\$ 450.00	\$ 135.00
12/12/2024	AGambal	B140	document) for filing. Emails with Jenner and K&E re motion to seal/motion withdraw COC.	0.30	\$ 450.00	\$ 135.00
12/12/2024	AGambal	B140	Emails with Pashman team re motion to seal/motion withdraw COC and public version of the same.	0.40	\$ 450.00	\$ 180.00
12/12/2024	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of motion to seal and redacted CoC	0.10	\$ 630.00	
12/12/2024	JBarsal	B140	Correspondence with C. Springer and W. Williams re: Voizzit press release (.1); Review same (.2)	0.30	\$ 630.00	\$ 189.00
12/12/2024	DSklar	B140	Review of articles concerning litigation against Voizzit	0.20	\$ 495.00	
12/12/2024	KBeilin	B140	Corr. w. S. Kimmer RE: sealed exhibits to motion to file under seal	0.10	\$ 420.00	\$ 42.00
12/12/2024	DSklar	B140	Review of transcript from the TRO hearing concerning India law suit	0.10	\$ 495.00	\$ 49.50
12/12/2024	JBarsal	B140	Correspondence with K. Beilin, A. Gambale and L. Salcedo re: final sealing motion for filing and related exhibits	0.10	\$ 630.00	\$ 63.00
12/12/2024	LSalced	B140	Prepare for and file motion for seal	0.50	\$ 400.00	\$ 200.00
12/12/2024	KBeilin	B140	Revised Motion to Seal and prepared for filing (0.3); conf. w. L. Salcedo regarding same (0.1)	0.40	\$ 420.00	\$ 168.00
	1	1	1		1	

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
12/12/2024	JBarsal	B140	Correspondence with A. Gorman and L. Salcedo re: service of summons and complaint in new	0.10	\$ 630.00	\$ 63.00
12/12/2024	LSalced	B140	Voizzit adversary Prepare for and file summons and ADR	0.60	\$ 400.00	\$ 240.00
12/12/2024	JBarsal	B140	Correspondence with S. Panag and A. Gambale re: transcript of December 11 hearing	0.10	\$ 630.00	\$ 63.00
12/12/2024	JBarsal	B140	Correspondence with S. Kimmer and K. Beilin re: Kirkland comments to motion to seal (.1);	0.20	\$ 630.00	\$ 126.00
12/12/2024	JBarsal	B140	Review same (.1) Correspondence with K. Beilin, A. Gambale and W. Williams re: Jenner comments to motion to	0.10	\$ 630.00	\$ 63.00
12/12/2024	KBeilin	B140	seal damages CoC Revised motion to permanently remove cert from docket (0.1); corr. w. Jenner, K&E regarding	0.20	\$ 420.00	\$ 84.00
12/12/2024	KBeilin	B140	same (0.1) Reviewed transcript from 12/11 emergency hearing.	0.20	\$ 420.00	
						-
12/12/2024	JBarsal	B140	Correspondence with D. Sklar and L. Salcedo re: summons of new Voizzit complaint	0.10	\$ 630.00	-
12/12/2024	JBarsal	B140	Correspondence with A. Gambale and C. Springer re: December 11 hearing transcript	0.10	\$ 630.00	\$ 63.00
12/13/2024	HJaffe	B140	Calls (x2) w/J. Barsalona re: case strategy issues	0.90	\$ 925.00	\$ 832.50
12/13/2024	HJaffe	B140	Reply to email from J. Barsalona re: Vellapalath article (.10)	0.10	\$ 925.00	\$ 92.50
12/13/2024	HJaffe	B140	Review email from J. Barsalona re: Vellapalath article (.10)	0.10	\$ 925.00	\$ 92.50
12/13/2024	LSalced	B140	Emails with paralegal from Young Conaway re Dec 18 agenda	0.20	\$ 400.00	\$ 80.00
12/16/2024	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: CNO for PI	0.10	\$ 630.00	\$ 63.00
12/16/2024	AGambal	B140	Emails with L. Salcedo re revised CNO for PI Order.	0.10	\$ 450.00	\$ 45.00
12/16/2024	AGambal	B140	Reviewed and revised CNO for PI Order.	0.10	\$ 450.00	\$ 45.00
12/16/2024	LSalced	B140	Prepare CNO re PI	0.40	\$ 400.00	\$ 160.00
12/16/2024	AGambal	B140	Review and finalize 2nd Voizzit PI Order for upload.	0.20	\$ 450.00	\$ 90.00
12/16/2024	AGambal	B140	Emails with L. Salcedo and J. Barsalona re 2nd Voizzit PI Order.	0.30	\$ 450.00	\$ 135.00
12/16/2024	AGambal	B140	Telephone call with J. Barsalona, D. Sklar, H. Jaffe, K. Beilin, Jenner team, Novo team and	0.50	\$ 450.00	\$ 225.00
12/16/2024	JBarsal	B140	client re 2nd Voizzit PI hearing and other outstanding items. Correspondence with A. Gambale re: PI Order edits	0.10	\$ 630.00	\$ 63.00
12/16/2024	LSalced	B140	Prepare agenda for Dec 19	0.80	\$ 400.00	\$ 320.00
12/16/2024	JBarsal	B140	Correspondence with C. Steege, W. Williams and A. Gambale re: form of PI (.1); Review and	0.20	\$ 630.00	\$ 126.00
12/16/2024	JBarsal	B140	comment to same (.1) Analysis of PI issues	0.30	\$ 630.00	\$ 189.00
			·			
12/17/2024	HJaffe	B140	Review email from J. Barsalona to Court re: preliminary injunction (.10)	0.10	\$ 925.00	\$ 92.50
12/17/2024	HJaffe	B140	Email to J. Barsalona re: PI re: India suit (.10)	0.10	\$ 925.00	\$ 92.50
12/17/2024	JBarsal	B140	Correspondence with D. Dandeneau and C. Steege re: summons from India	0.10	\$ 630.00	
12/17/2024	AGambal	B140	Filed notice of PI Order (2nd Voizzit PI Order).	0.20	\$ 450.00	\$ 90.00
12/17/2024	AGambal	B140	Drafted notice of PI Order (2nd Voizzit PI Order).	0.20	\$ 450.00	\$ 90.00
12/17/2024	AGambal	B140	Emails with Jenner team and client re notice of PI Order (2nd Voizzit PI Order) and CNO re same.	0.40	\$ 450.00	\$ 180.00
12/17/2024	AGambal	B140	Emails with the Court re notice of PI Order (2nd Voizzit PI Order) and CNO re same.	0.20	\$ 450.00	\$ 90.00
12/17/2024	AGambal	B140	Emails with J. Barsalona re notice of PI Order (2nd Voizzit PI Order).	0.50	\$ 450.00	\$ 225.00
12/17/2024	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of agenda and notice of proposed PI order	0.10	\$ 630.00	\$ 63.00
12/17/2024	LSalced	B140	Prepare for and file Dec 19 agenda	0.60	\$ 400.00	\$ 240.00
12/17/2024	JBarsal	B140	Correspondence with C. Springer and A. Gambale re: notice of proposed PI	0.10	\$ 630.00	\$ 63.00
12/17/2024	JBarsal	B140	Correspondence with H. Jaffe re: preliminary injunction issues	0.10	\$ 630.00	\$ 63.00
12/17/2024	JBarsal	B140	Comment to notice of proposed preliminary injunction	0.10	\$ 630.00	\$ 63.00
12/17/2024	JBarsal	B140	Correspondence with A. Gambale re: notice of proposed PI	0.10	\$ 630.00	\$ 63.00
12/17/2024	JBarsal	B140	Correspondence with C. Steege, C. Springer and M. Root re: PI hearing and related issues	0.10	\$ 630.00	
12/17/2024	JBarsal	B140	Correspondence with N. Washington and L. Haney re: CNO for preliminary injunction	0.20	\$ 630.00	
12/17/2024	JBarsal	B140	Attention to PI issues	0.10	\$ 630.00	
12/18/2024		B140	Emails with P&B re 2nd Voizzit PI Order.		\$ 450.00	
	AGambal			0.20		
12/18/2024	AGambal	B140	Emails with Court re CNO for 2nd Voizzit PI Order.	0.20		\$ 90.00
12/18/2024	AGambal	B140	Emails with C. Steege and Jenner team re CNO for 2nd Voizzit PI Order.	0.30	\$ 450.00	\$ 135.00
12/18/2024	AGambal	B140	Discussions with L. Salcedo re filing the CNO re 2nd Voizzit PI Order.	0.40	\$ 450.00	\$ 180.00

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
12/18/2024	JBarsal	B140	Correspondence with S. Sarangi and A. Gambale re: entry of preliminary injunction against India litigation	0.10	\$ 630.00	\$ 63.00
12/18/2024	JBarsal	B140	Correspondence with A. Gorman and L. Salcedo re: service of PI and amended agenda	0.10	\$ 630.00	\$ 63.00
12/18/2024	LSalced	B140	Prepare for and file CNO re PI	0.50	\$ 400.00	\$ 200.00
12/18/2024	LSalced	B140	Prepare amended agenda for Dec 19 hearing	0.50	\$ 400.00	\$ 200.00
12/18/2024	JBarsal	B140	Correspondence with N. Washington and L. Salcedo re: CNO and PI	0.10	\$ 630.00	\$ 63.00
12/18/2024	JBarsal	B140	Correspondence with C. Steege, A. Gambale and L. Salcedo re: service of PI	0.10	\$ 630.00	\$ 63.00
12/18/2024	JBarsal	B140	Correspondence with A. Gambale, C. Springer and C. Steege re: CNO for PI	0.10	\$ 630.00	\$ 63.00
12/19/2024	HJaffe	B140	Attend conference call w/Indian counsel re: Indian law suit	0.40	\$ 925.00	\$ 370.00
12/19/2024	LSalced	B140	Prepare CNO re motion to seal	0.20	\$ 400.00	\$ 80.00
12/19/2024	JBarsal	B140	Correspondence with H. Jaffe and A. Gambale re: Voizzit litigation issues	0.10	\$ 630.00	\$ 63.00
12/20/2024	AGambal	B140	Emails with B. Williams re sealed COC for attorneys fees.	0.30	\$ 450.00	\$ 135.00
12/20/2024	AGambal	B140	Review and finalized CNO for motion to seal/withdraw.	0.10	\$ 450.00	\$ 45.00
12/20/2024	JBarsal	B140	Correspondence with H. Jaffe re: adversary issues	0.10	\$ 630.00	\$ 63.00
12/26/2024	LSalced	B140	Prepare agenda for Jan 13 order to show cause	0.20	\$ 400.00	\$ 80.00
12/30/2024	AGambal	B140	Finalized and filed CNO for motion to seal/withdraw.	0.30	\$ 450.00	\$ 135.00
01/06/2025	JBarsal	B140	Correspondence with L. Salcedo re: show cause hearing	0.10	\$ 695.00	
01/07/2025	AGambal	B140	Drafted witness and exhibit list for 1/13 hearing.	0.30	\$ 485.00	\$ 145.50
01/07/2025	AGambal	B140	Emails with the C. Steege and Pashman team re witness and exhibit list for 1/13 hearing.	0.50	\$ 485.00	\$ 242.50
01/07/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: January 13 hearing agenda	0.10	\$ 695.00	
01/07/2025	JBarsal	B140	Correspondence with C. Springer, C. Steege and A. Gambale re: January 13 contempt hearing preparations	0.20	\$ 695.00	\$ 139.00
01/07/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: preparations for January 13 show cause hearing	0.10	\$ 695.00	
01/08/2025	JBarsal	B140	Correspondence with A. Gambale, C. Steege, and C. Springer re: witness and exhibit list for contempt hearing	0.20	\$ 695.00	\$ 139.00
01/08/2025	AGambal	B140	Emails with C. Steege and Client re declaration for order to show cause hearing.	0.30	\$ 485.00	\$ 145.50
01/08/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: notice of adjourned show cause hearing	0.10	\$ 695.00	\$ 69.50
01/08/2025	LSalced	B140	Prepare and file notice of rescheduled hearing	0.50	\$ 430.00	\$ 215.00
01/08/2025	AGambal	B140	Emails with the Jenner team and K&E team re moving order to show cause hearing.	0.20	\$ 485.00	\$ 97.00
01/08/2025	AGambal	B140	Emails with the Court re moving order to show cause hearing.	0.30	\$ 485.00	\$ 145.50
01/08/2025	AGambal	B140	Zoom call with C. Steege, M. Root, J. Grall, J. Barsalona and client re contempt/order to show cause hearing strategy.	0.30	\$ 485.00	\$ 145.50
01/08/2025	JBarsal	B140	Correspondence with S. Kimmer, R. Shankar, C. Steege and A. Gambale re: adjournment of contempt hearing	0.10	\$ 695.00	\$ 69.50
01/08/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer and A. Gambale re: adjournment of show cause hearing	0.10	\$ 695.00	\$ 69.50
01/08/2025	JBarsal	B140	Correspondence with A. Gambale re: show cause issues	0.10	\$ 695.00	\$ 69.50
01/08/2025	JBarsal	B140	Correspondence with N. Washington and A. Gambale re: adjournment of order to show cause hearing	0.20	\$ 695.00	\$ 139.00
01/09/2025	JBarsal	B140	Correspondence with A. Gambale re: attorneys fees for contempt hearing	0.10	\$ 695.00	\$ 69.50
01/09/2025	JBarsal	B140	Correspondence with R. Shankar and C. Steege re: Springer declaration for contempt hearing	0.20	\$ 695.00	\$ 139.00
01/10/2025	JBarsal	B140	(.1); Review and comment to same (.1) Correspondence with S. Kimmer and C. Steege re: comments to Springer declaration in	0.20	\$ 695.00	\$ 139.00
01/15/2025	LSalced	B140	support of Voizzit contempt (.1); Review lenders comments to same (.1) Updated PSWH damages calculations	0.50	\$ 430.00	\$ 215.00
01/16/2025	JBarsal	B140	Call with H. Jaffe re: contempt hearing issues	0.30	\$ 695.00	\$ 208.50
01/16/2025	AGambal	B140	Edited and sent out the witness and exhibit list for OTSC hearing.	0.2	\$ 485.00	\$ 97.00
01/16/2025	AGambal	B140	Reviewed and revised 1/22 hearing agenda.	0.1	\$ 485.00	\$ 48.50
01/16/2025	AGambal	B140	Telephone calls (x2) with L. Salcedo re updated fees for Claudia declaration's (for OTSC	0.9	\$ 485.00	\$ 436.50
01/16/2025	LSalced	B140	hearing). Revised PSWH damages costs	0.70	\$ 430.00	\$ 301.00
01/16/2025	LSalced	B140	Revise agenda for Jan 22	0.30	\$ 430.00	\$ 129.00
01/16/2025	LSalced	B140	Call with A. Gambale re Pashman damages costs (x2)	0.90	\$ 430.00	
01/16/2025	AGambal	B140	Telephone call with L. Salcedo re filing 1/22 hearing agenda.	0.90	\$ 485.00	
01/17/2025	AGambal	B140	Telephone call with L. Salcedo re filing witness & exhibit list for 1/22 hearing.	0.2	\$ 485.00	\$ 97.00

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/17/2025	AGambal	B140	Emails with L. Salcedo re witness & exhibit list for 1/22 hearing (.2); witness & exhibit list (.1).	0.3	\$ 485.00	\$ 145.50
01/17/2025	AGambal	B140	Emails with C. Steege and C. Springer re witness & exhibit list for 1/22 hearing.	0.3	\$ 485.00	\$ 145.50
01/17/2025	AGambal	B140	Telephone call with L. Salcedo re Springer declaration for 1/22 hearing.	0.3	\$ 485.00	\$ 145.50
01/17/2025	AGambal	B140	Emails with L. Salcedo re filing Springer declaration for 1/22 hearing (.3); approved same for filing (.1).	0.4	\$ 485.00	\$ 194.00
01/17/2025	AGambal	B140	Emails with C. Steege and C. Springer re Springer declaration for 1/22 hearing.	0.5	\$ 485.00	\$ 242.50
01/17/2025	JBarsal	B140	Correspondence with C. Steege and C. Springer re: contempt hearing switch	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with N. Washington re: contempt hearing issues	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: January 22 contempt hearing preparations	0.2	\$ 695.00	\$ 139.00
01/17/2025	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of contempt hearing issues	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with N. Washington, L. Haney and L. Salcedo re: exhibits for January 22 contempt	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: exhibits for contempt hearing	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: final version of exhibit and witness list (.1); Review same (.1)	0.2	\$ 695.00	\$ 139.00
01/17/2025	JBarsal	B140	Review and analyze final Springer declaration in support of contempt	0.2	\$ 695.00	\$ 139.00
01/17/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: final version of Springer declaration	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with L. Salcedo re: January 22 contempt hearing agenda	0.3	\$ 695.00	\$ 208.50
01/17/2025	JBarsal	B140	Revise and finalize agenda for January 22 hearing	0.1	\$ 695.00	\$ 69.50
01/17/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer and A. Gambale re: final version of Springer declaration	0.2	\$ 695.00	\$ 139.00
01/17/2025	JBarsal	B140	Correspondence with H. Jaffe re: contempt hearing preparations	0.1	\$ 695.00	\$ 69.50
01/17/2025	LSalced	B140	Prepare pleading and exhibit binders for Jan 22 hearing	1.3	\$ 430.00	\$ 559.00
01/17/2025	LSalced	B140	Prepare for and file declaration, exhibit list and agenda for Jan 22 hearing	0.9	\$ 430.00	\$ 387.00
01/17/2025	KBeilin	B140	Revised C. Springer declaration (0.1); corr. w. A. Gambale regarding same (0.1)	0.1	\$ 485.00	\$ 48.50
01/20/2025	KBeilin	B140	Conf. w. client, Jenner team, J. Barsalona, H. Jaffe, and A. Gambale RE: Voizzit adversary proceeding	0.3	\$ 485.00	\$ 145.50
01/20/2025	JBarsal	B140	Correspondence with L. Salcedo re: Voizzit issues	0.1	\$ 695.00	\$ 69.50
01/20/2025	AGambal	B140	Telephone call with Pashman team (J. Barsalona, H. Jaffe, K. Beilin), C. Steege, M. Root, C. Springer and J. Grall re new Voizzit counsel email.	0.3	\$ 485.00	\$ 145.50
01/20/2025	JBarsal	B140	Call with A. Gambale, C. Springer, C. Steege, K. Beilin, H. Jaffe, J. Grall, M. Root and W. Williams re: Voizzit reachout	0.3	\$ 695.00	\$ 208.50
01/20/2025	JBarsal	B140	Research regarding new Voizzit issues	0.1	\$ 695.00	\$ 69.50
01/20/2025	JBarsal	B140	Correspondence with C. Steege, A. Gambale and C. Springer re: response to Voizzit	0.1	\$ 695.00	\$ 69.50
01/20/2025	JBarsal	B140	Correspondence with M. Scorese and C. Steege re: Voizzit demands	0.2	\$ 695.00	\$ 139.00
01/20/2025	HJaffe	B140	Call w/J. Barsalona re: Voizzitt case strategy (.30)	0.30	\$ 980.00	\$ 294.00
01/20/2025	HJaffe	B140	Email to J. Barsalona regarding request of Voizzit to reply (.10)	0.10	\$ 980.00	\$ 98.00
01/20/2025	HJaffe	B140	Call w/J. Barsalona re: Voizzit hearing issues (.20)	0.20	\$ 980.00	\$ 196.00
01/20/2025	HJaffe	B140	Conference call w/Epic team re: possible response of Voizzit (.30)	0.30	\$ 980.00	\$ 294.00
01/21/2025	LSalced	B140	Assist with preparing for Jan 22 hearing	0.7	\$ 430.00	\$ 301.00
01/21/2025	LSalced	B140	Prepare for and file amended agenda	0.5	\$ 430.00	\$ 215.00
01/21/2025	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of notices regarding contempt hearing	0.1	\$ 695.00	\$ 69.50

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/21/2025	AGambal	B140	Emails with J. Barsalona and M. Root re draft status report for Judge Shannon for 1/22 hearing.	0.5	\$ 485.00	\$ 242.50
01/21/2025	AGambal	B140	Reviewed and provided comments to Jenner's draft status report for Judge Shannon for 1/22 hearing.	0.4	\$ 485.00	\$ 194.00
01/21/2025	AGambal	B140	Emails with the C. Steege and Voizzit new counsel re 1/22 hearing logistics.	0.5	\$ 485.00	\$ 242.50
01/21/2025	AGambal	B140	Emails with the J. Barsalona and Court re 1/22 hearing logistics.	0.6	\$ 485.00	\$ 291.00
01/21/2025	JBarsal	B140	Review Voizzit pleadings seeking adjournment (.4); Correspondence with C. Steege, M. Root, A. Gambale, and D. Sklar re: response to same (.6)	1	\$ 695.00	\$ 695.00
01/21/2025	LSalced	B140	Call with A. Gambale re Jan 22 hearing	0.1	\$ 430.00	\$ 43.00
01/21/2025	DSklar	B140	Review of adversary filings for upcoming hearing	0.2	\$ 545.00	\$ 109.00
01/21/2025	JBarsal	B140	Prepare for contempt hearing	0.4	\$ 695.00	\$ 278.00
01/21/2025	JBarsal	B140	Correspondence with R. Bello and L. Salcedo re: amended agenda	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Correspondence with C. Springer, C. Steege, H. Jaffe, L. Salcedo and A. Gambale re: Zoom status of contempt hearing	0.3	\$ 695.00	\$ 208.50
01/21/2025	JBarsal	B140	Revise and finalize amended agenda	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Correspondence with R. Bello and L. Salcedo re: status report	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Correspondence with L. Salcedo re: amended agenda	0.1	\$ 695.00	\$ 69.50
01/21/2025	LSalced	B140	Prepare for and file status report	0.5	\$ 430.00	\$ 215.00
01/21/2025	JBarsal	B140	Revise and finalize status report	0.4	\$ 695.00	\$ 278.00
01/21/2025	JBarsal	B140	Correspondence with S. Kimmer and M. Root re: comments to status report (.1); Review comments to same (.1)	0.2	\$ 695.00	\$ 139.00
01/21/2025	JBarsal	B140	Correspondence with R. Bello and M. Scorese re: request for adjournment	0.2	\$ 695.00	\$ 139.00
01/21/2025	KBeilin	B140	Reviewed email correspondence RE: Voizzit adversary proceeding	0.1	\$ 485.00	\$ 48.50
01/21/2025	JBarsal	B140	Correspondence with C. Steege re: correspondence with court regarding contempt hearing	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Correspondence with R. Shankar and C. Steege re: Voizzit request for continuance	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Call with C. Steege and M. Root re: contempt hearing continuance	0.2	\$ 695.00	\$ 139.00
01/21/2025	JBarsal	B140	Correspondence with A. Gambale re: comments to status report	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Comment to status report for contempt hearing	0.5	\$ 695.00	\$ 347.50
01/21/2025	JBarsal	B140	Correspondence with M. Root and C. Steege re: contempt hearing status report	0.1	\$ 695.00	\$ 69.50
01/21/2025	JBarsal	B140	Correspondence with M. Root, C. Steege and C. Springer re: Voizzit response	0.2	\$ 695.00	\$ 139.00
01/21/2025	JBarsal	B140	Correspondence with M. Scorese and C. Steege re: contempt hearing	0.4	\$ 695.00	\$ 278.00
01/21/2025	JBarsal	B140	Correspondence with R. Bello re: contempt hearing issues	0.2	\$ 695.00	\$ 139.00
01/21/2025	JBarsal	B140	Correspondence with C. Steege and C. Springer re: contempt hearing preparations	0.1	\$ 695.00	\$ 69.50
01/21/2025	HJaffe	B140	Review Voizzitt counsel email to court regarding emergency motion (.10)	0.10	\$ 980.00	\$ 98.00
0 112 112020	livalie	5140	Total Total Country Chair to Court regulating emergency motion (.10)	0.10	φ 900.00	90.00
01/21/2025	HJaffe	b140	Review email from Voizzit counsel re: emergency motion to stay (.10)	0.10	\$ 980.00	\$ 98.00
01/22/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: final version of CoC and contempt	0.1	\$ 695.00	\$ 69.50
	1	1	scheduling order and discovery		1	I

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/22/2025	AGambal	B140	Emails with C. Steege and Voizzit counsel re COCs and proposed scheduling order and proposed discovery order.	0.4	\$ 485.00	\$ 194.00
01/22/2025	AGambal	B140	Emails with C. Steege and K&E team re COCs and proposed scheduling order and proposed discovery order.	0.5	\$ 485.00	\$ 242.50
01/22/2025	AGambal	B140	Telephone call with L. Salcedo re drafting COCs for the proposed scheduling order and proposed discovery order for 1/29 hearing.	0.2	\$ 485.00	\$ 97.0
01/22/2025	AGambal	B140	Reviewed and revised COCs for the proposed scheduling order and proposed discovery order for 1/29 hearing.	0.4	\$ 485.00	\$ 194.0
01/22/2025	AGambal	B140	Drafted proposed scheduling order and proposed discovery order for 1/29 hearing.	0.5	\$ 485.00	\$ 242.5
01/22/2025	AGambal	B140	Emails with C. Steege re COCs and proposed scheduling order and proposed discovery order.	0.3	\$ 485.00	\$ 145.5
01/22/2025	AGambal	B140	Telephone call with J. Barsalona re COCs and proposed scheduling order and proposed discovery order.	0.1	\$ 485.00	\$ 48.5
01/22/2025	JBarsal	B140	Correspondence with C. Steege, M. Root, A. Gambale and L. Salcedo re: continued contempt hearing issues	0.2	\$ 695.00	\$ 139.0
01/22/2025	JBarsal	b140	Correspondence with M. Root and C. Springer re: John Naseath discovery	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with M. Scorese and A. Gambale re: contempt orders	0.4	\$ 695.00	\$ 278.0
01/22/2025	LSalced	B140	Prepare and file COC re scheduling order and discovery; Emails with Chambers re same	0.5	\$ 430.00	\$ 215.0
01/22/2025	JBarsal	B140	Correspondence with R. Shankar, C. Steege and A. Gambale re: lenders contempt orders (.2); Review same (.1)	0.3	\$ 695.00	\$ 208.5
01/22/2025	JBarsal	B140	Correspondence with C. Steege and A. Gambale re: orders regarding contempt and CoC	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with L. Salcedo re: transcript of January 22 hearing	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Comment to contempt scheduling order (.1); Comment to contempt order for expedited discovery (.1); Revise CoC regarding same (.1)	0.3	\$ 695.00	\$ 208.5
01/22/2025	JBarsal	B140	Correspondence with A. Gambale re: scheduling order and expedited discovery order	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with J. Grall and C. Springer re: Voizzit list of accounts and deficiencies	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with S. Gupta, D. Sklar, and A. Gambale re: post-contempt hearing issues and activities	0.2	\$ 695.00	\$ 139.0
01/22/2025	JBarsal	B140	Correspondence with C. Steege, M. Root, C. Springer, A. Gambale and L. Salcedo re: contempt hearing preparations and issues	0.4	\$ 695.00	\$ 278.0
01/22/2025	JBarsal	B140	Correspondence with K. Beilin, W. Williams, M. Root, C. Steege re: Voizzit visa misrepresentations	0.3	\$ 695.00	\$ 208.5
01/22/2025	JBarsal	B140	Call with A. Gambale re: orders for expedited discovery and scheduling	0.2	\$ 695.00	\$ 139.0
01/22/2025	LSalced	B140	Prepare COC re scheduling order and discovery	0.8	\$ 430.00	\$ 344.0
01/22/2025	AGambal	B140	Reviewed Voizzit's pleadings filed in preparation of 1/22 hearing and prepared for the 1/22 hearing.	0.9	\$ 485.00	\$ 436.5
01/22/2025	AGambal	B140	1/22 hearing de-brief call with Pashman team (J. Barsalona & H. Jaffe), Novo team, C. Steege, M. Root and client.	0.5	\$ 485.00	\$ 242.5
01/22/2025	AGambal	B450	Attended 1/22 contempt hearing.	0.9	\$ 485.00	\$ 436.5
01/22/2025	JBarsal	B140	Debrief of contempt hearing with C. Steege, M. Root, C. Springer, S. Gupta, J. Grall, W. Williams, H. Jaffe, and A. Gambale	0.6	\$ 695.00	\$ 417.0
01/22/2025	JBarsal	B450	Attend contempt hearing	0.9	\$ 695.00	\$ 625.5
01/22/2025	DSklar	b140	Aid in preparing email for hearing regarding adversary declaration	0.3	\$ 545.00	\$ 163.5
01/22/2025	LSalced	B140	Asist with preparing for Jan 22 hearing re zoom appearances	0.5	\$ 430.00	\$ 215.0
01/22/2025	JBarsal	B140	Correspondence with M. Scorese re: Voizzit purported compliance	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with K. Beilin and H. Jaffe re: factual inaccuracies in Voizzit papers	0.1	\$ 695.00	\$ 69.5
01/22/2025	JBarsal	B140	Correspondence with N. Washington and M. Scorese re: Voizzit pleadings and hearing	0.1	\$ 695.00	
01/22/2025	JBarsal	B140	Prepare for contempt hearing	1.5	\$ 695.00	\$ 1,042.5
01/22/2025	KBeilin	B140	Reviewed Vellapalath's motion to extend time and corresponding exhibits (0.6); researched related to same (0.6); corr. w. Jenner team and internally regarding same (0.2)	1.4	\$ 485.00	\$ 679.0

Date	Timekeeper	Task Code	Namative	Hours Billed	Rate Billed	Billed Amount
01/22/2025	HJaffe	B140	Review email from court regarding Voizzit hearing details (.10)	0.10	\$ 980.00	\$ 98.00
01/22/2025	HJaffe	B140	Epic team call with Trustee, Jenner, PSWH to discuss Voizzit strategy (.50)	0.50	\$ 980.00	\$ 490.00
01/22/2025	HJaffe	B450	Attend contempt hearing for Voizzit	0.90	\$ 980.00	\$ 882.00
01/22/2025	HJaffe	B140	Review papers in advance of contempt hearing for Vozzit (.30)	0.30	\$ 980.00	\$ 294.00
01/23/2025	AGambal	B140	Emails with L. Salcedo re Notice of Service of Voizzit discovery.	0.3	\$ 485.00	\$ 145.50
01/23/2025	AGambal	B140	Reviewed discovery sent to Voizzit in preparation for 1/29 hearing.	0.5	\$ 485.00	\$ 242.50
01/23/2025	AGambal	B140	Reviewed 1/22 hearing transcript.	0.3	\$ 485.00	\$ 145.50
01/23/2025	AGambal	B140	Emails with M. Root and C. Springer re comments to the M. Root declaration for the 1/29 hearing.	0.3	\$ 485.00	\$ 145.50
01/23/2025	AGambal	B140	Reviewed and provided comments to the M. Root declaration for the 1/29 hearing.	0.3	\$ 485.00	\$ 145.50
01/23/2025	JBarsal	B140	Correspondence with H. Jaffe re: GLAS intervention	0.1	\$ 695.00	\$ 69.50
01/23/2025	LSalced	B140	Prepare notice of service re discovery	0.5	\$ 430.00	\$ 215.00
01/23/2025	JBarsal	B140	Correspondence with S. Kimmer and M. Scorese re: GLAS motion to intervene	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with M. Root and C. Springer re: Root Declaration in support of contempt	0.2	\$ 695.00	\$ 139.00
01/23/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: Notices of service of discovery	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with M. Scorese and C. Steege re: discovery on Voizzit	0.1	\$ 695.00	\$ 69.50
01/23/2025	KBeilin	B140	Corr. w. C. Steege, M. Root, and W. Williams RE: Pleadings for 1/29 contempt hearing	0.1	\$ 485.00	\$ 48.50
01/23/2025	KBeilin	B140	Reviewed email correspondence RE: Contempt declaration	0.1	\$ 485.00	\$ 48.50
01/23/2025	JBarsal	B140	Correspondence with M. Root, C. Steege and H. Jaffe re: contempt hearing strategy	0.3	\$ 695.00	\$ 208.50
01/23/2025	AGambal	B140	Telephone call with J. Barsalona re 1/29 hearing logistics and filings.	0.6	\$ 485.00	\$ 291.00
01/23/2025	AGambal	B140	Teams call with Pashman team (J. Barsalona, H. Jaffe, K. Beilin, D. Sklar), Jenner team, Novo team, P&B team and client.	0.6	\$ 485.00	\$ 291.00
01/23/2025	KBeilin	B140	Conf. w. L. Salcedo RE: agenda and witness and exhibit list for 1/29 hearing	0.1	\$ 485.00	\$ 48.50
01/23/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer and A. Gambale re: contempt hearing preparations	0.1	\$ 695.00	\$ 69.50
01/23/2025	LSalced	B140	Call with K., Beilin re Jan 29 hearing (.40); Call with A. Gambale re Jan 29 agenda (.40)	0.8	\$ 430.00	\$ 344.00
01/23/2025	LSalced	B140	Call with J. Barsalona re preparation of the Jan 29 hearing (.50);	0.5	\$ 430.00	\$ 215.00
01/23/2025	JBarsal	B140	Call with A. Gambale re: contempt hearing preparations	0.6	\$ 695.00	\$ 417.00
01/23/2025	JBarsal	B140	Correspondence with S. Sarangi, C. Steege and J. Grall re: contempt hearing preparations	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with C. Steege and A. Gambale re: contempt hearing transcript	0.1	\$ 695.00	\$ 69.50
01/23/2025	KBeilin	B140	Reviewed transcript from 1/22 hearing	0.4	\$ 485.00	\$ 194.00
01/23/2025	JBarsal	B140	Calls (x2) with L. Salcedo re: contempt hearing preparations	0.6	\$ 695.00	\$ 417.00
01/23/2025	KBeilin	B140	Conf. w. J. Barsalona RE: Epic to dos RE: 1/27 hearing deadlines	0.3	\$ 485.00	\$ 145.50
01/23/2025	JBarsal	B140	Correspondence with K. Beilin re: Voizzit litigation issues	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with K. Beilin re: contempt hearing preparations	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with M. Scorese and A. Gambale re: scheduling order	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with M. Root and A. Gambale re: contempt orders	0.1	\$ 695.00	\$ 69.50
01/23/2025	JBarsal	B140	Correspondence with A. Gambale re: scheduling order and discovery order	0.1	\$ 695.00	\$ 69.50
01/23/2025	HJaffe	B140	Review email from J. Barsalona regarding GLAS motion to intervene (.10)	0.10	\$ 980.00	\$ 98.00
01/23/2025	HJaffe	B140	Email to J. Barsalona on GLAS motion to intervene (.10)	0.10	\$ 980.00	\$ 98.00

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/23/2025	HJaffe	B140	Email to PSWH group on Voizzit strategy issues (.20)	0.20	\$ 980.00	\$ 196.00
01/23/2025	HJaffe	B140	Review orders entered by court on Voizzit matter (.20	0.20	\$ 980.00	\$ 196.00
01/23/2025	HJaffe	B140	Conference call on Indian litigation with Jenner team, Trustee, PSWH team regarding strategy for Voizitt contempt hearing (.60)	0.60	\$ 980.00	\$ 588.00
01/24/2025	JBarsal	B140	Correspondence with S. Kimmer and M. Scorese re: Voizzit discovery	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Call with H. Jaffe re: Voizzit preparations (.1); Call with M. Scorese, C. Steege, M. Root, S. Kimmer and H. Jaffe re: meet and confer (.5); Debrief with C. Steege, M. Root, H. Jaffe and S. Kimmer (.2)	0.80	\$ 695.00	\$ 556.00
01/24/2025	JBarsal	B140	Call with K. Beilin re: order to show cause hearing issues	0.40	\$ 695.00	\$ 278.00
01/24/2025	JBarsal	B140	Correspondence with M. Root, A. Gambale and C. Steege re: initial exhibit and witness list (.1); Review same (.1)	0.20	\$ 695.00	\$ 139.00
01/24/2025	JBarsal	B140	Correspondence with H. Jaffe re: GLAS intervention issues	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Correspondence with M. Scorese and S. Kimmer re: objection to GLAS intervention	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Correspondence with M. Root and L. Salcedo re: GLAS filings	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Correspondence with C. Steege, A. Gambale and L. Salcedo re: Springer amended declaration edits	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Correspondence with M. Root, M. Horan, A. Gambale and L. Salcedo re: Root declaration exhibits	0.10	\$ 695.00	\$ 69.50
01/24/2025	AGambal	B140	Reviewed updated Pashman fees for amended C. Springer declaration.	0.30	\$ 485.00	\$ 145.50
01/24/2025	AGambal	B140	Emails with L. Salcedo re updated Pashman fees for amended C. Springer declaration.	0.20	\$ 485.00	\$ 97.00
01/24/2025	AGambal	B140	Emails with L. Salcedo re amended C. Springer declaration and exhibits.	0.20	\$ 485.00	\$ 97.00
01/24/2025	AGambal	B140	Emails with C. Steege, M. Root, re amended C. Springer declaration and exhibits.	0.20	\$ 485.00	\$ 97.00
01/24/2025	DSklar	b140	Review of motion to intervene	0.10	\$ 545.00	\$ 54.50
01/24/2025	AGambal	B140	Telephone call with K. Beilin and L Salcedo re case update and 1/29 hearing logistics and amended declaration re fees.	0.30	\$ 485.00	\$ 145.50
01/24/2025	KBeilin	b140	Conf. w. A. Gambale, L. Salcedo RE: Case updates documents to prepare for 1/29 hearing	0.30	\$ 485.00	\$ 145.50
01/24/2025	JBarsal	B140	Correspondence with L. Salcedo, K. Beilin, D. Sklar and A. Gambale re: revised springer declaration exhibit	0.10	\$ 695.00	\$ 69.50
01/24/2025	AGambal	B140	Emails with C. Steege, M. Root, re Root declaration and exhibits.	0.40	\$ 485.00	\$ 194.00
01/24/2025	AGambal	B140	Emails with C. Steege, M. Root, C. Springer, J. Grall and Pashman team re witness list/exhibit list strategy.	0.40	\$ 485.00	\$ 194.00
01/24/2025	JBarsal	B140	Correspondence with M Scorese and C. Steege re: meet and confer on discovery	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Correspondence with C. Steege, A. Gambale, J. Grall, and K. Beilin re: contempt hearing preparations call	0.20	\$ 695.00	\$ 139.00
01/24/2025	JBarsal	B140	Correspondence with C. Steege and K. Beilin re: discovery motions for hearing	0.10	\$ 695.00	\$ 69.50
01/24/2025	LSalced	B140	Prepare PSWH second amended calculations of costs	1.50	\$ 430.00	\$ 645.00
01/24/2025	JBarsal	B140	Correspondence with M. Root, C. Steege, D. Sklar and A. Gambale re: contempt hearing response	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Call with C. Springer, C. Steege, M. Root, A. Gambale, D. Sklar, H. Jaffe, W. Rittsteuer, L. Salcedo, K. Beilin and J. Grall re: contempt hearing evidence	0.60	\$ 695.00	\$ 417.00
01/24/2025	AGambal	B140	Zoom call with C. Steege, M. Root, C. Springer, J. Grall and Pashman team re witness list/exhibit list strategy.	0.50	\$ 485.00	\$ 242.50
01/24/2025	KBeilin	B140	Conf. w. C. Steege, J. Grall, C. Springer, J. Barsalona, H. Jaffe, A. Gambale, D. Sklar RE: witness and exhibit list for 1/29 hearing	0.50	\$ 485.00	\$ 242.50
01/24/2025	DSklar	B140	Meeting with Jenner team and Novo team concerning upcoming hearing	0.40	\$ 545.00	\$ 218.00
01/24/2025	LSalced	B140	Call with Jenner Team and Novo re witness list for Jan 29	0.60	\$ 430.00	\$ 258.00
01/24/2025	DSklar	b140	Research law concerning issue related to upcoming sanctions hearing	0.30	\$ 545.00	\$ 163.50

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/24/2025	LSalced	B140	Revised Jan 29 agenda	0.90	\$ 430.00	\$ 387.00
01/24/2025	KBeilin	B140	Corr. w. C. Steege RE: witness and exhibit list (0.1); corr. internally regarding same (0.1)	0.20	\$ 485.00	\$ 97.00
01/24/2025	DSklar	B140	Discussion with Jenner Team concerning preparations for upcoming contested hearing Asset Analysis and Recovery	0.10	\$ 545.00	\$ 54.50
01/24/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer and A. Gambale re: amended Springer declaration	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	for contempt hearing Correspondence with L. Salcedo and A. Gambale re: notice of service of discovery	0.10	\$ 695.00	\$ 69.50
01/24/2025	LSalced	B140	Prepare for and file notice of service; Call with A. Gambale re same	0.50	\$ 430.00	\$ 215.00
01/24/2025	JBarsal	B140	Calls (x2) with A. Gambale re: contempt hearing and discovery	0.30	\$ 695.00	\$ 208.50
01/24/2025	JBarsal	B140	Correspondence with A. Gambale re: Voizzit discovery	0.10	\$ 695.00	\$ 69.50
01/24/2025	JBarsal	B140	Review RFAs directed a Voizzit defendants (.2); Review RFAs directed to Ravindra (.2);	0.50	\$ 695.00	\$ 347.50
01/24/2025	HJaffe	B140	Review 30(b)(6) notices and Vellapalath deposition notice (.1) Email to J. Barsalona re: GLAS motion to intervene (.10)	0.10	\$ 980.00	\$ 98.00
01/24/2025	HJaffe	B140	Review GLAS motion to intervene in Voizzit proceeding (.20)	0.20	\$ 980.00	\$ 196.00
01/24/2025	HJaffe	B140	Conference call with Trustee and legal and FA team regarding Epic Witnesses (.60)	0.60	\$ 980.00	\$ 588.00
01/25/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: exhibit list edits	0.10	\$ 695.00	\$ 69.50
01/25/2025	LSalced	B140	Revised Jan 29 agenda; Review GLAS discovery	0.50	\$ 430.00	\$ 215.00
01/26/2025	JBarsal	B140	Correspondence with M. Root re: Voizzit non-compliance	0.10	\$ 695.00	\$ 69.50
01/26/2025	JBarsal	B140	Correspondence with M. Root, C. Steege and A. Gambale re: exhibit list edits	0.10	\$ 695.00	\$ 69.50
01/26/2025	JBarsal	B140	Correspondence with M. Root, C. Steege and A. Gambale re: Root Declaration	0.10	\$ 695.00	
01/26/2025	AGambal	B140	Updated witness and exhibit list for 1/29 hearing per emails with C. Steege re same.	0.30	\$ 485.00	\$ 145.50
01/26/2025		B140		0.30	\$ 485.00	\$ 145.50
	AGambal		Emails with C. Steege re further exhibits to add to the witness and exhibit list for 1/29 hearing.			
01/26/2025	AGambal	B140	Emails with C. Steege re amended C. Springer declaration.	0.20	\$ 485.00	\$ 97.00
01/27/2025	HJaffe	B140	Call w/A. Gambale regarding Voizzit matter issues (.20)	0.20	\$ 980.00	\$ 196.00
01/27/2025	HJaffe	B140	Email to J. Barsalona regarding Voizzit contempt motion (.10)	0.10	\$ 980.00	\$ 98.00
01/27/2025	HJaffe	B140	Conference call with full litigation team and Trustee regarding Voizzit hearing strategy (.50)	0.50	\$ 980.00	\$ 490.00
01/27/2025	HJaffe	B140	Call from A. Gambale regarding Voizzit reply (.20)	0.20	\$ 980.00	\$ 196.00
01/27/2025	AGambal	B140	Reviewed Voizzit Defendants' motion for protective order.	0.30	\$ 485.00	\$ 145.50
01/27/2025	AGambal	B140	Telephone call with L. Salcedo re 1/29 hearing agenda.	0.20	\$ 485.00	\$ 97.00
01/27/2025	AGambal	B140	Telephone call with Pashman team (J. Barsalona, H. Jaffe & D. Sklar), M. Root, C. Springer, C. Steege and J. Grall re 1/29 hearing logistics and discovery issues.	0.50	\$ 485.00	\$ 242.50
01/27/2025	AGambal	B140	Emails with L. Salcedo re filing amended witness and exhibit list.	0.20	\$ 485.00	\$ 97.00
01/27/2025	AGambal	B140	Emails with L. Salcedo re filing C. Springer declaration.	0.20	\$ 485.00	\$ 97.00
01/27/2025	AGambal	B140	Emails with L. Salcedo re filing M. Root declaration.	0.20	\$ 485.00	\$ 97.00
01/27/2025	AGambal	B140	Emails and telephone calls (x2) with L. Salcedo re finalizing two declarations to be filed in preparation for the 1/29 hearing/amended fee amount for C. Springer declaration.	0.70	\$ 485.00	\$ 339.50
01/27/2025	AGambal	B140	Emails with M. Root and C. Steege re two declarations to be filed in preparation for the 1/29	0.60	\$ 485.00	\$ 291.00
01/27/2025	AGambal	B140	hearing. Emails with M. Root and C. Steege re amended witness and exhibit list reply brief for	0.80	\$ 485.00	\$ 388.00
01/27/2025	AGambal	B140	TRO/contempt motion and chambers procedures re defendants' obligations. Telephone calls with H. Jaffe (x2) re 1/29 hearing and chambers procedures re same.	0.30	\$ 485.00	\$ 145.50
01/27/2025	AGambal	B140	Reviewed and provided comments to anticipated reply brief for TRO/contempt motion.	0.90	\$ 485.00	\$ 436.50
01/27/2025	AGambal	B140	Emails with M. Root and C. Steege re anticipated reply brief for TRO/contempt motion.	0.50	\$ 485.00	\$ 242.50
01/27/2025	JBarsal	B140	Correspondence with M. Scorese and C. Steege re: unsealed version of brief	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with H. Jaffe re: Voizzit response analysis	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo re: sealed brief for agenda	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with M. Root and A. Gambale re: meet and confer with Voizzit	0.20	\$ 695.00	\$ 139.00
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo re: amended agenda (.1); Revise and finalize same (.1)	0.20	\$ 695.00	\$ 139.00
01/27/2025	JBarsal	B140	Review and analyze Voizzit contempt objection	0.50	\$ 695.00	\$ 347.50
01/27/2025	LSalced	B140	Prepare and file amended agenda	0.20	\$ 430.00	\$ 86.00
01/27/2025	JBarsal	B140	Correspondence with R. Bello and L. Salcedo re: contempt hearing issues	0.10	\$ 695.00	
01/27/2025	JBarsal	B140	Correspondence with A. Henchen and L. Salcedo re: service of Voizzit papers	0.10	\$ 695.00	
01/27/2025	JBarsal	B140	Review and comment to current version of reply brief for contempt order	1.00	\$ 695.00	\$ 695.00
01/27/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer and A. Gambale re: comments reply brief	0.10	\$ 695.00	\$ 69.50
01/27/2025	LSalced	B140	Review and circulate Voizzit filings	0.80	\$ 430.00	\$ 344.00
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: presentation of evidence at contempt hearing	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Prepare for contempt hearing	1.40	\$ 695.00	\$ 973.00

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/27/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: final Root declaration for filing	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with M. Root re: protective order strategy	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with M. Root and A. Gambale re: Voizzit mistatements in latest papers	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: amended Springer declaration for filing	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Review and analyze Voizzit motion for protective order	0.30	\$ 695.00	\$ 208.50
01/27/2025	JBarsal	B410	Strategy call with C. Springer, S. Gupta, J. Grall, W. Rittsteuer, H. Jaffe, D. Sklar, M. Root, C.	0.50	\$ 695.00	\$ 347.50
01/27/2025	DSklar	B140	Steege, and A. Gambale Conference call with Jenner Team and Novo Team concerning ongoing case issues	0.50	\$ 545.00	\$ 272.50
01/27/2025	JBarsal	B140	Review Voizzit's objection to GLAS motion to shorten (.1); Review Voizzit's objection to	0.30	\$ 695.00	\$ 208.50
01/27/2025	JBarsal	B140	underlying motion (.2) Review GLAS's motion to intervene (.2); Review motion to shorten same (.1)	0.30	\$ 695.00	\$ 208.50
01/27/2025	JBarsal	B140	Correspondence with M. Root, C. Steege and L. Salcedo re: Voizzit objection to shortening	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	notice of GLAS intervention Correspondence with M. Root re: revised exhibits for Root declaration	0.10	\$ 695.00	\$ 69.50
01/27/2025	LSalced	B140	Updated Jan 29 agenda (.50); Prepare hearing binder and exhibit binder (.60)	1.10	\$ 430.00	\$ 473.00
01/27/2025	JBarsal	B140	Correspondence with M. Root, C. Springer, S. Gupta, A. Gambale, C. Steege and L. Salcedo	0.10	\$ 695.00	\$ 69.50
01/27/2025	LSalced	B140	re: Voizzit local counsel Review NOA of Voizzit and circulate	0.20	\$ 430.00	\$ 86.00
					·	
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: GLAS discovery	0.10	,	,
01/27/2025	JBarsal	B140	Review cross-deposition notices by GLAS	0.10	\$ 695.00	\$ 69.50
01/27/2025	LSalced	B140	Revised PSWH damages for amended declaration	0.90	\$ 430.00	\$ 387.00
01/27/2025	JBarsal	B140	Revise and finalize January 29 agenda	0.20	\$ 695.00	\$ 139.00
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: January 29 hearing agenda issues	0.20	\$ 695.00	\$ 139.00
01/27/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer, M. Root and A. Gambale re: Voizzit filings	0.20	\$ 695.00	\$ 139.00
01/27/2025	JBarsal	B140	Correspondence with A. Gambale and M. Root re: Voizzit non-compliance of discovery	0.40	\$ 695.00	\$ 278.00
01/27/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: revised damages calculation for Springer declaration	0.10	\$ 695.00	\$ 69.50
01/27/2025	JBarsal	B140	Revise damages exhibit	0.20	\$ 695.00	\$ 139.00
01/27/2025	KBeilin	B140	Reviewed Voizzit's objection to motion to shorten notice of motion to intervene	0.10	\$ 485.00	\$ 48.50
01/27/2025	KBeilin	B140	Reviewed email correspondence RE: TRO litigation strategy	0.10	\$ 485.00	\$ 48.50
01/27/2025	LSalced	B140	Call with A. Gambale re Jan 29 hearing (.40); Prepare for filings for Jan 29 hearing (.30)	0.70	\$ 430.00	\$ 301.00
01/28/2025	HJaffe	B140	Reply to email from D. Sklar regarding inadequacy of Voizzit exhibits (.10)	0.10	\$ 980.00	\$ 98.00
01/28/2025	HJaffe	B140	Email from D. Sklar regarding inadequacy of Voizzit exhibits (.10)	0.10	\$ 980.00	\$ 98.00
01/28/2025	HJaffe	B140	Email to PSWH team regarding hearing exhibits of Voizzit (.10)	0.10	\$ 980.00	\$ 98.00
01/28/2025	HJaffe	B140	Review email from opposing counsel regarding hearing exhibits (.20)	0.20	\$ 980.00	\$ 196.00
01/28/2025	HJaffe	B140	Review draft reply to Voizzit objection (.60)	0.60	\$ 980.00	\$ 588.00
01/28/2025	HJaffe	B140	Conference call w/PSWH, Jenner, Novo, Kirkland teams regarding contempt hearing (.30)	0.30	\$ 980.00	\$ 294.00
01/28/2025	AGambal	B140	Finalized and assisted with the filing of the motion to exceed page limit for reply.	0.40	\$ 485.00	\$ 194.00
01/28/2025	AGambal	B140	Drafted motion to exceed page limit for reply.	0.50	\$ 485.00	\$ 242.50
01/28/2025	AGambal	B140	Finalized and assisted with filing of of reply brief (to Voizzit response to the OTSC).	1.30	\$ 485.00	\$ 630.50
01/28/2025	AGambal	B140	Emails with C. Steege and M. Root re updated draft of reply brief (to Voizzit response to the	1.20	\$ 485.00	\$ 582.00
01/28/2025	AGambal	B140	OTSC) and finalizing the same for filing. Reviewed updated draft of reply brief (to Voizzit response to the OTSC).	0.40	\$ 485.00	\$ 194.00
01/28/2025	AGambal	B140	Teams call with Jenner team, Pashman team (H. Jaffe and J. Barsalona) and K&E team re 1/29	0.30	\$ 485.00	\$ 145.50
01/28/2025	AGambal	B140	hearing and draft reply to the Voizzit response. Reviewed Voizzit defendants' response to the OTSC.	0.60	\$ 485.00	\$ 291.00
01/28/2025	JBarsal	B140	Correspondence with A. Henchen, A. Guerra and L. Salcedo re: service of Voizzit reply papers	0.10	\$ 695.00	
01/28/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: third amended agenda (.1); Revise and	0.20	\$ 695.00	\$ 139.00
01/28/2025	JBarsal	B140	Correspondence with H. Jaffe and D. Sklar re: Voizzit exhibit issues	0.10	\$ 695.00	\$ 69.50
01/28/2025	DSklar	B140	Review of adversary exhibits and discussion with H. Jaffe concerning same	0.30	\$ 545.00	\$ 163.50
01/28/2025	JBarsal	B140	Correspondence with L. Salcedo re: second amended agenda	0.30		
			· ·		·	\$ 69.50
01/28/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: contempt reply for filing	0.10	\$ 695.00	
01/28/2025	JBarsal	B140	Review GLAS Trust Company LLC's Reply in Support of Motion to Intervene	0.20	\$ 695.00	\$ 139.00
01/28/2025	JBarsal	B140	Review Voizzit exhibit and witness list	0.10	\$ 695.00	\$ 69.50
01/28/2025	LSalced	B140	Assist with preparing for Jan 29 hearing	2.00	\$ 430.00	\$ 860.00
01/28/2025	JBarsal	B140	Correspondence with H. Jaffe re: contempt hearing preparations	0.20	\$ 695.00	\$ 139.00
01/28/2025	JBarsal	B140	Correspondence with A. Gambale and L. Salcedo re: motion to exceed for filing	0.10	\$ 695.00	\$ 69.50
01/28/2025	JBarsal	B140	Correspondence with M. Scorese, C. Steege, C. Springer and A. Gambale re: discovery and	0.30	\$ 695.00	\$ 208.50

Case 24-50233-BLS $\underset{\text{Pashman Stein Walder Hayden, P.C.}}{\text{Doc 98-1}}$ Filed 02/06/25 Page 32 of 40

Date	Timekeeper	Task Code	Narrative	Hours Billed	Rate Billed	Billed Amount
01/28/2025	JBarsal	B140	Prepare for contempt hearing	2.60	\$ 695.00	\$ 1,807.00
01/28/2025	JBarsal	B140	Correspondence with C. Springer and C. Steege re: comments to reply (.1); Review same (.1)	0.20	\$ 695.00	\$ 139.00
01/28/2025	JBarsal	B140	Correspondence with P. Keane re: sealed response brief	0.10	\$ 695.00	\$ 69.50
01/28/2025	LSalced	B195	Travel to Delaware for Jan 29 hearing	1.50	\$ 430.00	\$ 645.00
01/28/2025	JBarsal	B140	Revise motion to exceed page limit	0.10	\$ 695.00	\$ 69.50
01/28/2025	JBarsal	B140	Correspondence with H. Jaffe and A. Gambale re: contempt briefing	0.10	\$ 695.00	\$ 69.50
01/28/2025	JBarsal	B140	Correspondence with A. Gambale and H. Jaffe re: motion to exceed page limit	0.10	\$ 695.00	\$ 69.50
01/28/2025	JBarsal	B140	Call with R. Shankar, C. Steege, M. Root, A. Gambale, S. Kimmer re: contempt hearing	0.30	\$ 695.00	\$ 208.50
01/28/2025	DSklar	B140	Review of filings for upcoming contempt hearing	0.60	\$ 545.00	\$ 327.00
01/28/2025	JBarsal	B140	Correspondence with C. Steege, C. Springer, W. Williams, M. Root and A. Gambale re: revised	0.30	\$ 695.00	\$ 208.50
01/28/2025	JBarsal	B140	reply Revise reply	0.20	\$ 695.00	\$ 139.00
01/29/2025	HJaffe	B140	Post-hearing meeting with litigation team regarding Voizzit contempt hearing including strategy post-hearing for order (.30);	0.30	\$ 980.00	\$ 294.00
01/29/2025	HJaffe	B450	In court for Voizzit contempt hearing	3.10	\$ 980.00	\$ 3,038.00
01/29/2025	HJaffe	B140	Meet with Trustee, Jenner, PSWH & Novo teams to prepare for Voizzit contempt hearing (1.50)	1.50	\$ 980.00	\$ 1,470.00
01/29/2025	HJaffe	B140	Meet with co-counsel and Trustee regarding hearing strategy (.80)	0.80	\$ 980.00	\$ 784.00
01/29/2025	HJaffe	B140	Pre hearing conference call with opposing counsel (.40)	0.40	\$ 980.00	\$ 392.00
01/29/2025	JBarsal	B140	Correspondence with L. Salcedo and A. Gambale re: contempt damages calculation	0.20	\$ 695.00	\$ 139.00
01/29/2025	LSalced	B195	Travel back to NJ from Delaware	1.00	\$ 430.00	\$ 860.00
01/29/2025	LSalced	B450	Attend Jan 29 hearing (partial attendance)	2.00	\$ 430.00	\$ 860.00
01/29/2025	AGambal	B140	Discussions with J. Barsalona re order for contempt.	0.20	\$ 485.00	\$ 97.00
01/29/2025	AGambal	B140	Revised and uploaded order for contempt for the Court to so enter.	0.30	\$ 485.00	\$ 145.50
01/29/2025	AGambal	B140	Discussions with C. Steege re order for contempt.	0.30	\$ 485.00	\$ 145.50
01/29/2025	JBarsal	B140	Correspondence with J. Walker, R. Bello and A. Gambale re: contempt order	0.10	\$ 695.00	\$ 69.50
01/29/2025	JBarsal	B140	Comment to contempt order (.1); Correspondence with C. Steege, A. Gambale and M. Root re: same (.1)	0.20	\$ 695.00	\$ 139.00
01/29/2025	AGambal	B450	Attended OTSC hearing.	3.10	\$ 485.00	\$ 1,503.50
01/29/2025	JBarsal	B140	Debrief of contempt hearing with C. Springer, C. Steege, M. Root, H. Jaffe and A. Gambale	0.40	\$ 695.00	\$ 278.00
01/29/2025	JBarsal	B450	Attend contempt hearing	3.10	\$ 695.00	\$ 2,154.50
01/29/2025	AGambal	B140	Prepared for OTSC hearing.	4.70	\$ 485.00	\$ 2,279.50
01/29/2025	JBarsal	B140	Correspondence with G. Matthews and L. Salcedo re: contempt hearing transcript	0.10	\$ 695.00	\$ 69.50
01/29/2025	JBarsal	B140	Correspondence with C. Springer re: hearing issues	0.10	\$ 695.00	\$ 69.50
01/29/2025	JBarsal	B140	Correspondence with M. Root and C. Steege re: Voizzit pleading issues	0.10	\$ 695.00	\$ 69.50
01/29/2025	JBarsal	B140	Review letter from GLAS to Voizzit re: Voizzit forgery	0.10	\$ 695.00	\$ 69.50
01/29/2025	DSklar	B140	Review of BYJU filings in advance of hearing	0.20	\$ 545.00	\$ 109.00
01/29/2025	KBeilin	B140	Reviewed letter to counsel for Voizzit RE: forged documents	0.10	\$ 485.00	\$ 48.50
01/29/2025	JBarsal	B140	Meet and confer with M. Scorese, C. Steege, S. Kimmer, C. Springer, N. Vislocky, A. Gambale,	0.40	\$ 695.00	\$ 278.00
01/29/2025	JBarsal	B140	M. Root, R. Solow, H. Jaffe, and R. Shankar Prepare for contempt hearing with H. Jaffe, C. Steege, M. Root, A. Gambale, L. Salcedo, C. Springer and J. Grall	4.00	\$ 695.00	\$ 2,780.00
01/29/2025	LSalced	B140	Prepare for Jan 29 hearing	3.00	\$ 430.00	\$ 1,290.00

186.20 \$ 107,781.50

Date	Timekeeper	Expense Code		Amount	Narrative
12/09/2024	JBarsal	E116	\$	562.10	Reliable Copy Service, Inc WL120639
					Daily Transcript
12/13/2024	JBarsal	E116	\$	124.10	Reliable Copy Service, Inc
					WL120810
					Daily Transcript
01/21/2025	JBarsal	E118	\$	517.78	Reliable Copy Service, Inc
					WL121470
					Digital Priting/Binder/Hand
					Delivery Courier
01/23/2025	JBarsal	E109	\$	137.00	Leslie Salcedo
					Amtrak tickets 1/28 and 1/29
01/23/2025	JBarsal	E118	\$	51.92	Reliable Copy Service, Inc
					WL121516
					Digital Printing/Binder/Hand
					Delivery
01/24/2025	JBarsal	E118	\$	248.20	Reliable Copy Service, Inc
					WL121579
					Daily Transcript
01/29/2025	JBarsal	E118	\$	2,571.82	Reliable Copy Service, Inc
					WL121653
					Digital Printing/Binder/Hand
					Delivery Courier
01/29/2025	KRogers	E124	\$	97.49	Alexis R. Gambale-Alexis R.
					Gambale - 01/29/2025
					Jimmy Johns
					Client Exp Other
01/29/2025	KRogers	E124	\$	10.00	Alexis R. Gambale-Alexis R.
					Gambale - 01/29/2025
					\$10 cash tip - Jimmy Johns
					Client Exp Other
01/30/2025	JBarsal	E109	\$	30.96	Leslie Salcedo
			`		Lyft from home to Newark Penn
					station for the Train to DE
01/30/2025	JBarsal	E109	\$	6.94	Leslie Salcedo
			`		Lyft from Wilmington Train station
					to Delaware office
01/30/2025	JBarsal	E109	\$	15.98	Leslie Salcedo
			*		Lyft from DE office to Wilmington
					Train station
01/30/2025	JBarsal	E109	\$	46.24	Leslie Salcedo
			•	••	Lyft from Newark Penn station to
					home Jan 29
01/30/2025	JBarsal	E118	\$	627.80	Reliable Copy Service, Inc
					WL121721
					Daily Transcript
L	1				1= 1

Law Offices of Panag & Babu Fees and Expenses

Case 24-50233-BLS Doc 98-1 Filed 02/06/25 Page 35 of 40

DATE	INITIALS	Task code	DESCRIPTION	TIME (IN UNITS)
09.12.2024	IPA	B210 Business Operations	Attention to Voizzit's lawsuit	1
09.12.2024	JBH	B210 Business Operations	Attention to Voizzit's lawsuit	1
10.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	1
10.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attention to Ernakulum suit filed by Voizzit	1
10.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attention to Ernakulum suit filed by Voizzit	1
10.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Culled out of data regarding the Ernakulum Suit and reviewed the factual inconsistences via-a-vis	2.5
		1,11,11	previous documents and discussion with Y Sood regarding the same	
10.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	1
			Initiated a review of the legal propositions pertaining to inclusion of "foreign law" in "barred by any	
10.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	law" for Order 7 Rule 11 CPC, enforcement of foreign orders through a writ proceedings in India and case laws where the Courts have dismissed/stayed suits filed to defeat pending judicial proceedings	4.5
			outside India.	
10.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Attention to Ernakulum suit filed by Voizzit	1
10.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Preparation of internal note in re. lawsuit	2.5
10.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Internal discussion with P Sarawagi pertaining to the legal strategy to be taken in the Ernakulum suit	0.5
10.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.5
10.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Review of legal precendents in re. voizzit lawsuit.	5.4
11.12.2024	YSO	P410 General Pankruptov Advice/Opinions	Internal discussion with BSA on the research propositions to be included in judgments for hearing	3.5
11.12.2024	130	B410 General Bankruptcy Advice/Opinions	Internal discussion with PSA on the research propositions to be included in judgments for hearing.	3.5
11.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Internal discussion with S Jain and P Sarawagi on the above propositions and carried a further follow	3
			up to the finalised judgements	
11.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Internal discussion with S Sarangi, S Jain and P Sarawagi on the legal strategy to be recommended	2
11.12.2024	YSO	P410 Conoral Pontruntos Adviso (Oninions	Durafted the local stratemy amail	1
11.12.2024	130	B410 General Bankruptcy Advice/Opinions	Drafted the legal strategy email.	1
11.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Internal team discussion re: the legal strategy to be recommended to Claudia regarding the Ernakulum suit	2
11.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Reviewed the legal strategy email with the team.	2
11.12.2024	SPA	B210 Business Operations	Attention to correspondence from Apple's counsel	0.3
11.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Internal discussion with Y Sood on the research propositions for voizzit lawsuit	2
			Internal discussion with S Jain and Y Sood on the above propositions and carried a further follow up	
11.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	to the finalised judgements.	3
11.12.2024	PSA	PA10 Conoral Ponkruntas Adviso (Oninions	Internal discussion with S Sarangi, S Jain and Y Sood on the legal strategy to be recommended to	2
11.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Claudia regarding the Ernakulum suit	2
11.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Review of the legal propositions in re. jurisdiction	4.5
11.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Attention to Ernakulum suit filed by Voizzit	0.5
11.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Initiated a review of the legal propositions in re. Ernakulam suit.	4
11.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Internal discussion with Y Sood and P Sarawagi on the above propositions and carried a further	4.5
11.12.12.02.1	5371	5410 deficial ballkraptcy Advice, Opinions	follow up to the finalised judgements	1.5
11.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Internal discussion with S Sarangi, Y Sood and P Sarawagi on the legal strategy to be recommended	2
11.12.2024	SJA	2422		0.5
11.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Drafted the legal strategy email with Y Sood and P Sarawagi.	0.5
12.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. the Ernakulam Suit and TRO Hearing	0.2
			Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. the	
12.12.2024	TCH	B410 General Bankruptcy Advice/Opinions	Ernakulam Suit and TRO Hearing	0.2
12 12 2024	554	DATA Consent Bookington 111 / Co. 1	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. the	0.3
12.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Ernakulam Suit and TRO Hearing	0.2
12.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attention to transcript of hearing in Delaware	0.6
12.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. the	0.2
12.12.2027	.50	5.125 Scheral bankruptcy Advice/ Opinions	Ernakulam Suit and TRO Hearing	5.2
12.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. the	0.2
	DC A		Ernakulam Suit and TRO Hearing	
16.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attended call with the Trustee re. IA hearing in the Ernakulum Suit	0.5
16.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Coordinated with the Local counsel in Kerala for filing of the vakaltnama before the Court	0.2
16.12.2024	SSA	B210 Business Operations	Confer with S Panag re: Kerala strategy and intimation from defendant counsel	1
16.12.2024	SSA	B210 Business Operations	Call with defendant counsel in India in re. Kerela law suit.	0.5
16.12.2024	SSA	B210 Business Operations	Coordination and conference calls with India counsel in re. Kerala suit and Delaware court orders.	1.2
16.12.2024	SSA	P210 Business Operations	Call with the tructee team in re-developments in the Kerela law suit	0.5
16.12.2024	SPA	B210 Business Operations B210 Business Operations	Call with the trustee team in re. developments in the Kerala law suit.	1
			Confer with S Sarangi re: Kerala strategy and intimation from defendant counsel	
16.12.2024	SJA TCH	B410 General Bankruptcy Advice/Opinions	Attended call with the Trustee re. IA hearing in the Ernakulum Suit	0.5
16.12.2024		B410 General Bankruptcy Advice/Opinions	Attended call with the Trustee re. IA hearing in the Ernakulum Suit	
17.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.2
17.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Preparation for the hearing scheduled in Kerela.	3.5

Description	Hrs	Rate	Amount
SSA	35.5	525	18637.5
SPA	1.3	525	682.5
JBH	1	475	475
IPA	1	250	250
SJA	12.9	250	3225
YSO	40	175	7000
PSA	23.1	175	4042.5
TCH	1.5	175	262.5
	116.3	2550	34575

Case 24-50233-BLS Doc 98-1 Filed 02/06/25 Page 36 of 40

17.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.2
17.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.2
17.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Culled out the relevant US orders from the docket for the IA hearing with Y Sood	1
17.12.2024	тсн	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.3
17.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.2
17.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Culled out the relevant US orders from the docket for the IA hearing with P Sarawagi	2.2
18.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attention to PI Order and review of all Delaware court proceedings in preparation for the hearing the next day.	4.2
18.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Prepared for the IA hearing in the Ernakulum suit	5.5
19.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Travelled to and attended for the IA hearing in Ernakulum Commercial Court in Kerala	12
19.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
19.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Travelled with S Sarangi and attended for the IA hearing in Ernakulum Commercial Court in Kerala	12
19.12.2024	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
19.12.2024	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
19.12.2024	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
19.12.2024	тсн	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
19.12.2024	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team, Novo Advisors, Jenner & Block and FTI Consulting in re. IA hearing in the Ernakulam Suit	0.5
23.12.2024	SSA	B210 Business Operations	Prepared and circulated draft strategy note to India counsel in re. proposed next steps.	4.6

116 3

Case 24-50233-BLS Doc 98-1 Filed 02/06/25 Page 37 of 40

DATE	INITIALS	Task code	DESCRIPTION	TIME (IN UNITS)
02.01.2025	PSA	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.50
02.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.50
02.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.50
02.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team	0.50
02.01.2025	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.50
07.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.20
07.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team	0.20
07.01.2025	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.20
07.01.2025	SJA	B310 Claims Administration and Objections	Attention to the email dated 7 Januray 2025 issued by the Trustee wherein applications, affidavits filed by Voizzit in the Suit (Voizzit v. Think & Learn & Ors.) were served and review of these applications served to the Trustee.	0.50
07.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Attention to service email and review of documents.	0.50
07.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.20
07.01.2025	SJA	B450 Trial and Hearing Attendance	Appeared and entered appearance with Y Sood for the Trustee before the Ernakulum District Court in the interim application and suit filed by Voizzit.	0.30
08.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Observed the proceedings before the NCLT at Bengaluru in the insolvency proceedings of Think & Learn	1.50
08.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Prepared for the next hearing in the interim applications in Voizzit v. Think & Learn instituted by Voizzit in Ernakulum Commercial Court	2.50
08.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Prepared for the next hearing in the interim applications in Voizzit v. Think & Learn instituted by Voizzit in Ernakulum Commercial Court	3.00
08.01.2025	YSO	B310 Claims Administration and Objections	Attention to documents sent by Voizzit to Novo Advisors, consisting of affidavits and petitions for interim mandatory injunction and temporary prohibitory injunction filed in Ernakulum Commercial Court	0.30
08.01.2025	PSA	B410 General Bankruptcy Advice/Opinions	Attention to documents sent by Voizzit to Novo Advisors, consisting of affidavits and petitions for interim mandatory injunction and temporary prohibitory injunction filed in Ernakulum Commercial Court	0.30
09.01.2025	YSO	B450 Trial and Hearing Attendance	Travelled to Kochi with S Jain and attended hearing on behalf of the Trustee in the suit filed by Voizzit (Voizzit v. Think & Learn & Ors.) before the Ernakulum District Court.	12
09.01.2025	SJA	B450 Trial and Hearing Attendance	Travelled to Kochi with Y Sood and attended hearing on behalf of the Trustee in the suit filed by Voizzit (Voizzit v. Think & Learn & Ors.) before the Ernakulum District Court.	12.00
09.01.2025	SJA	B310 Claims Administration and Objections	identified email ID of the lawyers of Voizzit for issuing an email for withdrawal of Voizzit Suit.	0.20
10.01.2025	SSA	B310 Claims Administration and Objections	Discussions with S Jain on next steps in re. Voizzit Suit.	0.70
10.01.2025	SSA	B310 Claims Administration and Objections	Drafting email to be issued to Voizzit lawyers with the US Court orders and coordination on having it issued.	0.40
10.01.2025	SJA	B310 Claims Administration and Objections	Issued an email to Voizzit's lawyers on behalf of the Trustee for withdrawal of suit and providing documents filed with the suit	0.20
10.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Internal discussions with SSA on strategy for the voizzit suit and next steps.	0.70
13.01.2025	YSO	B310 Claims Administration and Objections	Conducted a review of the legal proposition regarding the evidentiary value of a foreign proceedings in an Indian suit.	3.5
14.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.2
14.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.20
14.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.20
14.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team	0.20
14.01.2025	PSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with the Trustee Team.	0.20
15.01.2025	TCH	B310 Claims Administration and Objections	Commenced drafting the writ petition	3.60

Description	Hrs	Rate	Amount
SSA	5.2	525	2730
SPA	0	525	0
JBH	0	475	0
SJA	13.8	250	3450
YSO	20	175	3500
PSA	1.7	175	297.5
TCH	6	175	1050
	46.7	2300	11027.5

Case 24-50233-BLS Doc 98-1 Filed 02/06/25 Page 38 of 40

DATE	INITIALS	Task code	DESCRIPTION	TIME (IN UNITS)
16.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Drafted the writ petition	4
16.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Review of the legal position pertaining jurisdiction.	3.5
17.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Prepared for the next hearing on 18 January 2025 in the interim applications in Voizzit v. Think &	2.5
17.01.2025	TCU	DA10 Consest Bonton Adviso / Oninions	Learn instituted by Voizzit in Ernakulum Commercial Court	2.5
17.01.2025	TCH SJA	B410 General Bankruptcy Advice/Opinions	Drafted the writ petition	3.5 2
		B410 General Bankruptcy Advice/Opinions	Preparation for the hearing scheduled the next day. Appeared and entered appearance with S Jain on behalf of the Trustee before the Ernakulum	
18.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	District Court in the interim application and suit filed by Voizzit.	1
18.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Travelled to Kochi with S Jain to appear for the Trustee in the suit filed by Voizzit (Voizzit v. Think & Learn & Ors.) before the Ernakulum District Court.	12
18.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Appeared with Y Sood for the Trustee in the hearing before the Ernakulum District Court in the lawsuit filed by Voizzit	1
18.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Travelled to Kochi with Y Sood to appear for the Trustee in the lawsuit filed by Voizzit before the Ernakulum District Court.	12
20.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of the documents served in the Voizzit lawsuit.	1
20.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Reviewed the Voizzit lawsuit, documents and applications served by Voizzit counsel to us	2
20.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Review of the legal position in re. aspects in the writ petition	3.2
20.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Drafted the writ petition	2
20.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Drafted the hearing update for the 18 January 2025 hearing in the Ernakulum District Court to be sent to the Trustee team	0.1
20.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Attention to the suit + IA documents served by Voizzit's counsel in the suit filed by Voizzit (Voizzit v. Think & Learn & Ors.) before the Ernakulum District Court.	1
20.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Internal Discussion with S Jain in re. voizzit law suit.	0.2
20.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	research for drafting the writ petition .	2.5
20.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Internal Discussion with Y Sood in re. voizzit law suit.	0.2
21.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.3
21.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Discussion with T Chaturvedi regarding the writ petition.	0.4
21.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.3
21.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Internal discussion with T Chaturvedi regarding writ petition	0.2
21.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Internal discussion with S Jain regarding writ petition	0.2
21.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Discussion with Y Sood in re. writ petition.	0.4
21.01.2025	тсн	B410 General Bankruptcy Advice/Opinions	Drafted the writ petition to be filed before the Kerala High Court for dismissal of the commercial suit filed by Voizzit before the Commercial Court at Ernakulam	5
22.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Drafted the writ petition.	4.5
23.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Updating draft writ petition and submitting for internal review.	3.5
23.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Attention to the transcript and documents sent by the Trustee Team pertaining to the adversary proceedings	1
23.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of declaration filed in Delaware Court	0.5
23.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.6
23.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of hearing transcript.	0.5
23.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.6
23.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Standing call with Trustee Team	0.6
23.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Attention to the transcript and documents sent by Trustee Team pertaining to contempt	2
23.01.2025	SJA	P410 Conoral Pankruntov Advice (Opinions	proceedings Attanded standing call with Tructon Team	1
26.01.2025	YSO	B410 General Bankruptcy Advice/Opinions B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team Prepared for the next hearing on 27 January 2025 in the interim applications in Voizzit v. Think &	0.5
26.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Learn instituted by Voizzit in Ernakulum Commercial Court Travelled to Kochi with S Jain to appear for the Trustee in the suit filed by Voizzit (Voizzit v. Think	5
26.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	& Learn & Ors.) before the Ernakulum District Court. Travelled to Kochi with Y Sood to appear for the Trustee before the Ernakulum District Court in	5
	SIA		the hearing for the lawsuit filed by Voizzit Appeared with Y Sood for the Trustee in the hearing before the Ernakulum District Court in the	1.5
27.01.2025		B410 General Bankruptcy Advice/Opinions	lawsuit filed by Voizzit Travelled back to Delhi from Kochi with Y Sood after attending the hearing in the lawsuit filed by	
27.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Volzzit Appeared and entered appearance with S Jain on behalf of the Trustee before the Ernakulum	5
27.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	District Court in the interim application and suit filed by Voizzit.	1.5
27.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Travelled back to Delhi from Kochi with S Jain for appearance on behalf of the Trustee in the suit filed by Voizzit (Voizzit v. Think & Learn & Ors.) before the Ernakulum District Court.	5
28.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of the response to show cause.	1
28.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of indian legal precedecents to be used in declaration on indian law	2.5
28.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Response to email on query on response to show cause.	0.1

Description	Hrs	Rate	Amount
SSA	11	525	5775
SPA	0	525	0
JBH	0	475	0
SJA	35.5	250	8875
YSO	36.5	175	6387.5
PSA	0	175	0
TCH	32.2	175	5635
	115.2	2300	26672.5

Case 24-50233-BLS Doc 98-1 Filed 02/06/25 Page 39 of 40

28.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Drafting declaration on indian law and circulating it.	3
29.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Review of response to show cause and declaration	1
29.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Review of response to show cause and declaration	1
29.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Review of response to show cause and declaration	1
30.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Internal discussion with S Jain regarding voizzit lawsuit.	0.4
30.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Internal discussion with Y Sood regarding voizzit lawsuit.	0.4
30.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.3
30.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.3
30.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Attended standing call with Trustee Team	0.3
31.01.2025	SSA	B410 General Bankruptcy Advice/Opinions	Review of the hearing transcript.	1.5
31.01.2025	SJA	B410 General Bankruptcy Advice/Opinions	Review of the hearing transcript.	1.5
31.01.2025	TCH	B410 General Bankruptcy Advice/Opinions	Review of the hearing transcript.	1.5
31.01.2025	YSO	B410 General Bankruptcy Advice/Opinions	Review of the hearing transcript.	1.5

Voizzit lawsuit expenses till January 2025

#	Expenses	Amount
1.	Flight Ticket	2,91,827/-
2.	Hotel Accommodation	26,616/-
3.	Local Transportation	55,224/-
	Total (in INR)	3,73,667/-
	Total (in USD)	4,370.40

Exhibit B

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

EPIC! CREATIONS, INC., et al., 1

Debtors.

Claudia Z. Springer, Chapter 11 Trustee,

Plaintiff,

VS.

Google, LLC, Voizzit Technology Private Ltd., Voizzit Information Technology LLC, Vinay Ravindra, Rajendran Vellapalath,

Defendants.

Chapter 11

Case No. 24-11161 (BLS)

(Jointly Administered)

Adv. Pro. No. 24-50233 (BLS)

(Jointly Administered)

Re: Adv. D.I.

JUDGMENT ORDER

Based upon the Certification of Counsel Regarding Order Granting Chapter 11 Trustee's Emergency Motion to Hold the Voizzit Defendants in Contempt of Court for Their Failure to Comply With the Court's November 19 Order dated February 5, 2025 [D.I. •], and the Court having jurisdiction over this proceeding and being fully advised on the premises;

IT IS HEREBY ORDERED AND ADJUDGED THAT:

Judgment is entered in favor of Claudia Z. Springer, not individually but as Chapter
 Trustee of the above-captioned debtors (the "Trustee") and against each of Vinay Ravindra,

The Debtors in these chapter 11 cases, along with the last four digits of each Debtor's federal tax identification number, are: Epic! Creations, Inc. (9113); Neuron Fuel, Inc. (8758); and Tangible Play, Inc. (9331).

Voizzit Technology Private Ltd, and Voizzit Information Technology LLC, and Rajendran Vellapalath (individually a "<u>Voizzit Defendant</u>," and collectively, the "<u>Voizzit Defendants</u>") in the amount of \$571,762.05, with post-judgment interest running from the date of this Judgment Order at the rate established by 28 U.S.C. § 1961.

- 2. Each Voizzit Defendant remains jointly and severally responsible for the entire sum of \$571,762.05 until the Trustee's judgment is fully satisfied.
- 3. The terms and conditions of this Judgment Order shall be immediately effective and enforceable upon its entry, notwithstanding any provision in the Bankruptcy Rules or the Local Rules to the contrary, and the Trustee may, in her discretion and without further delay, take any action and perform any act authorized under this Judgment Order.
- 4. This Court retains jurisdiction with respect to all matters arising from or related to the implementation, interpretation, or enforcement of this Judgment Order.